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1 (9:04am.) 1 his previoustestimony. Mr. Greneman -
2 CHAIRMAN: 2 CHAIRMAN:
3 Q. Good morning, Ms. Newman. Any preliminary 3 Q. That's what a Cost of Service week does.
4 matters before we begin? 4 Sorry. Go ahead.
5 MS. NEWMAN: 5 GREENE. Q.C.:
6 Q. No, Chair. 6 Q. Wait until the end of next week after our road
7 CHAIRMAN: 7 show. Mr. Greneman, evidencewasfiled in
8 Q. Okay. Thank you. Good morning, Mr. Hearn. 8 your name on October 31, 2003 dealing only
9 Would you like to introduce your witness, 9 with the issue of the rates for the Labrador
10 please? Oh, no, I'm sorry, Mr. Greneman. | 10 Interconnected System. Do you adopt that pre-
1 didn’t even look that way. My apologies, sir, 1 filed evidence as your evidence for the
12 good morning. Ms. Greene, do you wish to 12 purpose of your testimony today?
13 proceed? 13  A.Yes | do.
14 GREENE.QC:.: 14 Q. Inyour evidenceyou explained your position
15 Q. Good morning - 15 as towhy you believe that the areas of
16 CHAIRMAN: 16 Labrador East and Labrador West should be
17 Q. Orif there'sno particular direct, if you 17 treated as one single interconnected system
18 wish to - 18 for the purpose of setting rates for the
19 GREENE. Q.C.. 19 customersin that area. | wonder if you could
20 Q. Yes, | do have ashort direct examination. 20 explain, please, forthe Board, why your
21 CHAIRMAN: 21 evidence, as towhy that isan appropriate
22 Q. Okay, fine. 22 position to take?
23 GREENE. Q.C.. 23 A.Yes, thank you. | believe a single
24 Q. Thank you, Mr. Chair, Commissioners. And of 24 interconnected system in Labrador is
25 course, Mr. Greneman is still under oath from 25 appropriate for anumber of reasons. |
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1 believe it's fully justified on grounds 1 salient different element that Mr. Drazen
2 including Cost of Service, marginal costs, 2 highlights. The other oneisthe fact that
3 price signals, value of service, opportunity 3 thereis generation in Lab East which does not
4 cost and public policy. 4 exist in Lab West, and my understanding from
5 If I can just describe the system in 5 Mr. Drazen is the question asto whether Lab
6 general to begin. I'm looking at a--either an 6 West should pay for that generation. So on
7 electrical or a map of the Labrador system. 7 one hand they believe they’re entitled to the
8 Thereis Churchill Falls pretty much inthe 8 freewheeling and they should not, on the
9 middle of the system. And then we observe a 9 other hand, they should not pay for the
10 rather symmetrical system where there’satwo 10 generation in Lab East.
11 twin--there are twin 230 kV lines running west 11 Mr. Drazen goeson to estimate the Cost
12 from Churchill Fallsto Lab City and Wabush, 12 of Service to Happy Valley-Goose Bay at
13 and in the other direction, there’'sa 138 kV 13 approximately $8.9 million, thisisthe annual
14 line running east to Happy Valley-Goose Bay. 14 Cost of Service per year, and that’'s his
15 So just looking at the system you observe a 15 estimate. | don't believe Hydro has done a
16 degree of symmetry which implies adegree of 16 study. And in comparison with that number he
17 equal type of facilities coming from a common 17 estimates the Cost of Service for Lab East--
18 generating facility. 18 Lab West, rather, to bein the order of $3.6
19 However, in reviewing Mr. Drazen's 19 million.
20 testimony, hisevidence, he bringsup two 20 My view isthat although there are cost
21 facts. Hebringsup, number one, that the 21 differences, those differences are not in and
22 Twinco line, which is an essential element in 22 of themselves sufficient to justify two
23 providing serviceto Lab West in actuality is 23 separate systems. | know of no absolute test
24 wheeling, over that lineis provided to Hydro 24 to discern when systems should be separating
25 at essentially nocost. And that’s one 25 based solely on cost differences and nor do |
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1 MR. GRENEMAN: 1 have the same purpose.
2 know that there’ s any threshold that exists or 2 Now, | observed that the benefit of the
3 any standard industry measurement. In 3 freeuse of wheeling over the Twinco line
4 response to a request for information Mr. 4 arose due to circumstances, rather than
5 Drazen has likewise agreed that hehad no 5 intrinsic differencesin configuration. And
6 preset threshold with regard to putting forth 6 any claim to the benefits of that Twinco line
7 that the system should be separate as opposed 7 becauseit lies on one side of the fence or
8 to integrated--as opposed to combined. 8 another, in my view, isno more defensible
9 In looking at Mr. Drazen’ s differencesin 9 than if Hydro owned the line and it was fully
10 cogt, it should not lead one to conclude that 10 depreciated, thus providing wheeling at no
11 there areintrinsic cost differences between 11 Cost.
12 systems. And infact, I'd like to demonstrate 12 Cost of Service is inlarge part an
13 that the systems are indeed functionally the 13 averaging process. Now, there are aways Cost
14 same. Inthe case of Lab East, if the 138 kV 14 of Service differences between areas and in
15 transmission lineis out of service, there's 15 considering one costing philosophy over
16 generation at Lab East to servemost of the 16 another, in my view, it's very important not
17 load. With respect to Lab West, if one of the 17 tolose sight of the basic role of Cost of
18 Twinco lines goes out of service, the other 18 Service, and that is to discern relative
19 Twinco lineis available to provide service to 19 differencesamong customer classeswithin a
20 most of the--to a substantial portion of the 20 region. And this has manifested itself indeed
21 loadin Lab West. Soin that regard the 21 in policy considerations in this very
22 Twinco line in Lab West is functionally 22 jurisdiction as practised by Hydro and this
23 equivalent to the single 138 kV line running 23 Board. Oneexample is the combining of
24 from Churchill Falls to Lab East even 24 isolated diesel areasfor costing and rate
25 considering the generation. They functionally 25 purposes with pricing in part reflective of
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1 NP's rates. Another policy consideration 1 appropriately viewed asbearing avalue of
2 which has been practised in Newfoundland is 2 service component. The Twinco line, in other
3 with regard to Hydro’s Interconnected Rural 3 words, benefits all customers. And evenasa
4 customers whose rates are based on NP’ s rates. 4 combined system would act to benefit Lab West.
5 Again another example in Canadais the policy 5 So there's, in my view, avalue component, a
6 that had existed in provinces such as Manitoba 6 value of service element in there.
7 to have province wide rates for similar 7 If I cangoon, I think there aretwo
8 classes of service regardless of ownership of 8 other considerations that bear in this, and
9 the utility. If Lab East and Lab West were 9 one is price signas and the other is
10 separated, it could potentially result in 10 opportunity cost. While Hydro has an
11 significant price differencesfor otherwise 11 obligation to first serve its own customers, a
12 similar classes of customers. So there are, 12 particularly low price will act to encourage
13 in my view, policy considerations. 13 wasteful consumption and deprive Hydro of
14 With respect, | believe another factor is 14 additional export sales.
15 value of service. The Twincoline is a 15 So in summary, | see wheeling over the
16 necessary and essential element in providing 16 Twinco lines as a unique arrangement.
17 reliable serviceto Lab West. If that line 17 Essentially the Labrador Interconnected System
18 were owned by Hydro, the total costs would be 18 isaradial system with two radial linesand
19 greater than they are currently in the Cost of 19 it should not be subject to separate Cost of
20 Service under a combined system. Thiswould 20 Service any more than if it had eight radial
21 result in higher cost to Lab West. 21 lines, each one having its separate, its own
22 (9:51am.) 22 individual Cost of Service. Therefore, it's
23 Somy conclusion there with respect to 23 my view that the treatment as a single system,
24 value of serviceis pricingLab West as a 24 aswas reaffirmed by thisBoard in P.U. 7, is
25 single system can in this regard be 25 fair and proper.
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1 GREENE, Q.C.: 1 Q. Good morning, Chair. We have no questions.
2 Q. Thank you, Mr. Greneman. That concludesthe 2 CHAIRMAN:
3 direct examination. 3 Q. Good morning, Mr. Seviour.
4 CHAIRMAN: 4 MR. SEVIOUR:
5 Q. Thank you, very much, Ms. Greene. Ms. Newman, 5 Q. Good morning, Mr. Chair. Similarly, the
6 was there any discussion on a change in order 6 Industrials have no questions.
7 in terms of cross-examination or anything of 7 CHAIRMAN:
8 that nature? 8 Q. guessby default the order is established.
9 MS. NEWMAN: 9 Good morning, Mr. Hearn.
10 Q. No, there wasn’t. | would propose that we 10 HEARN, Q.C:
11 just follow the usual order if peopledon't 11 Q. Seemsto have been an efficient use of time,
12 have a problem with that. 12 Mr. Chairman. Mr. Greneman, I'd liketo just
13 HEARN, Q.C:: 13 examine each of the aspects of what you refer
14 Q. That's certainly acceptable, Mr. Chairman. 14 to asthe Labrador Interconnected System and
15 CHAIRMAN: 15 just go through the background of the system,
16 Q. Thank you. If that'sthe case, we'll goto 16 the history of the system and the different
17 the Consumer Advocate. Good morning, Mr. 17 components. First of al, is there any
18 Fitzgerald. 18 physical direct connection between the
19 MR. FITZGERALD: 19 distribution facilitiesin Labrador West and
20 Q. Good morning, Mr. Chairman. We have no 20 any facilities wholly owned by Newfoundland
21 questions on that. 21 Hydro, any direct physical connection?
22 CHAIRMAN: 22 A.Wadll, yeah, if you're--yes, thereis.
23 Q. Thank you, very much. Good morning, Mr. 23 Q. Wherewould that be?
24 Kelly. 24 A.lt'sthrough thedistribution. Just start
25 KELLY, Q.C. 25 with Lab West?
Page 11 Page 12
1 Q. Yes ThelLabrador West distribution system, 1 But what | would suggest to you that the
2 doesit directly connect to any facilities 2 Labrador West distribution system does not
3 that are wholly owned by Newfoundland Hydro? 3 connect with a wholly owned facility of
4  A. Theanswer--wholly owned, yes. 4 Newfoundland Hydro?
5 Q. Whereisthat connection? 5 A. Thepathisnot totally--all elementsin the
6 A. Thismay get into minutia, but it goes through 6 path are not totally owned by Hydro. | don’t
7 the Lab West distribution system, goes through 7 consider that to be relevant to the argument.
8 the Twinco transmission - 8 Q. What isthe distance from the Labrador West
9 Q. And who owns Twinco? 9 distribution system, the Wabush substation to
10 A.Twincois owned by, it's owned by Twinco, 10 the nearest Newfoundland Hydro facility that
11 actually. 11 you would say it connects to?
12 Q. Who are the shareholders of Twinco? 12 A. Thismight take afew moments.
13 A.My understanding is there are three 13 Q. Waell, let'snot--we'd agree thatit's the
14 shareholders of Twinco and they are Churchill 14 distance of, at least the distance of the
15 Falls, Labrador, Wabush, 1occ. In any event, 15 Twinco line from Churchill Fallsto Labrador
16 it goes through the Twinco line, goes through 16 West?
17 Churchill Falls. Presumably there is an 17  A. That'sthe point, | agree.
18 electrical connection at Churchill Falls and 18 Q. So wedon’'t--now, you're saying that there’s a
19 there's a connectionin some fashion to, 19 switch from that line to the 138 kV line?
20 either through a switch, maybe not, maybe 20 A.Totheextent thatit, I'mgoingto usethe
21 normally open it through a switch to the 138 21 word "terminate” loosely, in Churchill Falls,
22 kV line which iswholly owned by Hydro. 22 | would assume that that can be some sort of
23 Q. Sothe- 23 common facility in Churchill Falls that
24  A.Thereisapath. 24 separates Lab East and Lab West. | have not
25 Q. There'sa pathto get to the hydro system. 25 looked at the substation diagram. | don’t
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1 MR. GRENEMAN: 1 Q. Sothey would have different characteristics?
2 believethisisrelevant to the argument. | 2 A.Thesense--I don't think we--did you use the
3 think it's, in asense, minutia. 3 word "profiles'?
4 HEARN, Q.C.: 4 Q.No, | don't think so.
5 Q. Wdl, perhaps we'll let the Board determine 5 A.No. Well, theload being carried on each one
6 the relevance. 6 is pretty much the same characteristic. The
7 A Yeah 7 physical line, the line physicaly,
8 Q. I'djustliketo be certain that we understand 8 electrically operates, each line operates at
9 the facts on which we're making the final 9 two different voltage levels.
10 determination. | understand that it's an 10 Q.Yes. That's-what's the distance from
11 assumption that the line from Labrador West 11 Churchill Fallsto Labrador East for the 138
12 would connect to the line from Labrador East. 12 kV line? If you don’t have that readily, it's
13 Do you have any--you’ ve presented no evidence |13 not -
14 on that point, have you? 14 Al can--it’'ll take a minute or two to get it.
15 A.No. | don't think it's relevant whether one 15 Q. Wéll, what'sthe ownership of the linefrom
16 could feed the other, for example. 16 Labrador East to Happy Valley-Goose Bay?
17 Q. That’smy next question. 17 A.InLabrador East to Happy Valley-Goose Bay?
18 A If that's what--yeah. 18 Q. Yeah, the 138 kV line that we're referring to,
19 Q. These lines have different load 19 who ownsthat line?
20 characteristics and qualities, do they not? 20 A. Sorry, from Churchill Fallsto -
21 A. Doesthe? 21 Q. Churchill Fallsto Happy Valley-Goose Bay?
22 Q. TheTwinco lineisa 238--sorry, 230 kV line 22 A.It'swholly owned by Hydro.
23 and the line from Churchill Fallsto Labrador 23  Q.Yes. Onthe transmission aspects, Hydro
24 Eastisa 138 kV line. Would that be correct? 24 owning the lineto Labrador East and bearing
25 A.Right. 25 the costs, would you agree that in the present
Page 15 Page 16
1 situation that there’ s a different costing in 1 Q. I'dsuggest to you that the two components of
2 the transmission of power to Labrador East 2 the Labrador West distribution system were
3 than to Labrador West? To Labrador West it's 3 constructed respectively by the Iron Ore
4 wheeled and essentially not cost to Hydro and 4 Company of Canada and Wabush Mines?
5 to Labrador East, Labrador East bears the cost 5 A. That's my understanding, actually.
6 of the transmission function, doesit not? 6 Q.ls it your understanding that Hydro
7 A. Themethod of costing would be the same. 7 contributed anything to the origina
8 Q. Theactual costing to Hydro would be higher to 8 construction of those system?
9 Labrador East than to Labrador West, | would 9 A.Yes itis. Oh, that Hydro contributed?
10 suggest? Isthat - 10 Q. Anything to the original construction costs of
11 A. For that transmission line by virtue of the 11 those systems?
12 fact that there’ s zero cost. The methodology 12 A.l don't think they did, but I'd have to check.
13 isthe same. 13 Q. Would you know what the historical cost of the
14 Q. One having zero cost and the other having a 14 construction of those--of the distribution
15 real cost meansthat it’'s cheaper for Hydro to 15 systems that service Labrador West by Wabush
16 deliver power to Labrador West thanitisto 16 Mines and 10C were?
17 Labrador East? 17 A. | do not know the historical cost. | could--
18  A. |l would agree with that. 18 asamatter of fact, 'msorry, | take that
19 Q. Thedistribution system, would you know when |19 back. | can checkin the Cost of Service
20 the Labrador West distribution system was 20 Study the historical cost.
21 constructed and by whom? 21 Q. Will you find the historical cost in the Cost
22 A.l believe--I would--it might have been 22 of Service Study?
23 constructed by the Iron Ore--by the 23 A.What | could find is the remaining plant--my
24 Industrials, the Iron Ore Corporation. I'm 24 understanding is | could find the remaining--
25 guessing at the moment. 25 the plant that’ s in the field today, which
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1 MR. GRENEMAN: 1 Newfoundland Hydro in approximately the early
2 could be part historical, it could be all 2 1990s, also for the nominal sum of adollar,
3 replaced, it could be part replaced, but what 3 with the Iron Ore Company of Canada
4 should be able to befoundis the surviving 4 contributing  substantially, again, |
5 plant in thefield right now, which could be 5 understand, some millions of dollars towards
6 al historical, part historical or part--all 6 the upgrading of that system?
7 upgraded. 7 A.I'll accept that.
8 HEARN, Q.C.: 8 Q.I'mnot asking you to--I'm asking you isit
9 Q. Areyou aware of the purchase price that was 9 your understanding that that’ s accurate?
10 paid for that system by Newfoundland Hydro? 10 A. Yes
11  A.lcanfindout. | don't havethe number at 11 Q. So theactual cost to Newfoundland Hydro,
12 hand. 12 apart from any further capital investments
13 Q. I’dsuggest to you that Wabush Minesturned 13 that they’ve made since they’ve acquired
14 over its portion of the system in the mid ’ 80s 14 ownership, would be relatively low?
15 for a nominal sum of a dollar with Wabush 15 A.Yes.
16 Mines contributingto an upgradingin the 16 Q. Who built and paid for the distribution system
17 system of some several million dollars. Do 17 in Labrador East?
18 you understand that to be the case? 18  A. | would guessit was Hydro, but I'm not sure.
19  A.I'll accept that. 19 Q. I'd suggest to you that it was built,
20 Q.If anything| say isincorrect, I'm sure 20 maintained and operated by Newfoundland Hydro,
21 you'll correct me and I’m sure Ms. Greene can 21 perhaps through one of its various companies
22 be of assistance aswell if I’'m sending you in 22 that may have existed at thetime. Ms. Greene
23 the wrong direction. Do you understand that 23 may correct me on that if shefeelsthat it's
24 the Iron Ore Company of Canadaturned over its |24 appropriate.
25 portion of the distribution system to 25 GREENE. Q.C..
Page 19 Page 20
1 Q. For the record, the distribution system was 1 Q. Theoriginal cost for the systemin Labrador
2 acquired by Hydro inthelate’70s from the 2 East compare to the costto Hydro for the
3 Federal Government. It was--the original 3 system in Labrador West?
4 distribution system in Goose Bay was not built 4 A.The origina cost before anything was
5 by PDD or Hydro. Again, | don't know that 5 transferred was presumably the same order of
6 it'srelevant, but that’ s the factual basis. 6 magnitude. Facilitiesaren't built for free.
7 CHAIRMAN: 7 Q. Would you know about what investments that’s
8 Q. Thank you for that, Ms. Greene. 8 been requiredto be made by Hydroin the
9 HEARN, Q.C.: 9 Labrador East system?
10 Q. The historical cost for the Labrador East 10 A.ldon't havethat knowledge at this moment.
11 distribution facilities, how would they 11 Q. There's been some evidence presented that
12 compare to the cost of the distribution 12 suggests that the--Mr. Drazen’ s evidence, that
13 facilitiesin Labrador West? 13 the--in thedistribution systems that the
14 A ldidn't hear all of Ms. Greene's answer, 14 costs for Labrador West are significantly
15 actually. It wasalittle bit low. If she- 15 lower than that for Labrador East. Do you
16 GREENE. Q.C.: 16 disagree with that?
17 Q. Thedistribution system on Labrador Eastin 17 A.No, | don't.
18 the Happy Valley-Goose Bay areawas originally |18 Q. And we' ve aready discussed the transmission
19 built by somebody else, athird party, and was 19 aspect that | understand you' Il agree that the
20 acquired by Hydro from the Federal Government |20 actual transmission costs to deliver energy to
21 in thelate '70s. That wasthe original 21 Labrador West are lower thanthey are to
22 distribution system in the Goose Bay area. 22 deliver to Labrador East?
23 A.Andyour questionis how doesthe original 23  A.Yes. Thisisal manifestedin Mr. Drazen's
24 costinlLab - 24 estimates, so all this filters down to histwo
25 HEARN, Q.C.: 25 estimates of Cost of Service. So, yes, |
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1 MR. GRENEMAN: 1 GREENE.Q.C:
2 could agreeto what you're saying. | don’t 2 Q. Andit may behelpful if | advised at this
3 believeit to be relevant, though. 3 time, Hydro does accept that there are
4 HEARN, Q.C. 4 differencesin the costs between Labrador East
5 Q. Yeah, we'll cometo therelevance of it. We 5 and Labrador West and after the revised
6 can perhaps argue that point, but perhapsif 6 evidence of Mr. Drazen we accept generally the
7 we can just establish whether or not there' sa 7 costs that Mr. Drazen has outlined for
8 factual disagreement. On the generation 8 Labrador East and Labrador West and what the
9 aspect, isit your understanding that there's 9 differences are.
10 some 38 megawatts of backup or standby 10 HEARN, Q.C::
1 generation on the Labrador East system? 11 Q. Thank you, Ms. Greene. Do you know why the
12 A.Yes | do. 12 standby generation was constructed and when it
13 Q. Who built and paid for that standby 13 was constructed in Happy Valley-Goose Bay?
14 generation? 14 A.ldon't have at hand when it was constructed.
15  A. |l would assume that Hydro did. 15 Apparently it was constructed in case the 138
16 Q. Doyou know the costs associated with that 16 kV line was out of service.
17 standby generation? 17 Q. There are two components to the standby
18  A.It's probably--yes, | think it's in Mr. 18 generation. One would be the diesel backup
19 Drazen’s study. | could referenceit or - 19 and the other would be the gas turbine. Would
20 (9:31am.) 20 that be correct? Ms. Greeneisfreeto -
21 Q.Yes. Wdl, do youdisagree with what Mr. 21 GREENE.Q.C.
22 Drazen has said about the cost for that 22 Q. Thatis correct. The diesdl plant was not
23 generation? 23 built by Hydro but the gas turbine was after
24 A.lwill acceptthat.l havenobasis at the 24 Hydro became responsible in the late * 70s for
25 moment to disagree. 25 the Goose Bay area. The diesel was there
Page 23 Page 24
1 prior to Hydro’s assumption of ownership and 1 and we have accepted that estimate. We have
2 in the late’ 70s there was PDD first that went 2 accepted that there are cost differences, so
3 into Goose Bay. So thediesel plant was 3 the answer isyes.
4 there prior to that and Hydro installed the 4  Q.In your evidenceyou've referred to cost
5 gasturbine. 5 differences arise duetotwo situations and
6 HEARN,Q.C. 6 one you referred to wheeling and essentially
7 Q. Mr. Greneman, would you know when and why the 7 no costs and the other the 38 megawatts of
8 gas turbine was built? 8 generation on the Labrador East system, do you
9 A.Iltwasprobably--1 would say for acombination 9 not?
10 of voltage support and standby. 10 A.ldo.
11 Q. When you say support and standby, isit fair 11 Q. That'spage 2 of your evidence. Yet, Mr.
12 to say that it would be support and standby 12 Drazen indicates, and | planto take you
13 for Labrador East? 13 through, that there are cost differences
14 A.Yes 14 between Labrador West and Happy Valley-Goose
15 Q. Would you accept that the gas turbine would 15 Bay inall three major components of costs,
16 have no role to service Labrador West? 16 generation, transmission and distribution?
17 A.Yes, | accept that. 17 A. | would characterize distribution as not being
18 Q. Sothen, if thereis costs associated with the 18 significant with respect to cost differences
19 construction of thisturbine, and I'm sure 19 in comparison to generation and transmission,
20 there are, and aswe've seen that there are, 20 in comparison between -
21 would you agree that even in the--looking at 21 Q. When you say "not significant", have you done
22 the generation aspect that there are 22 any calculation of the order of magnitude of
23 significant cost differences between Labrador 23 that?
24 East and Labrador West? 24 A.Onceagain, it al filters down to those--to
25 A ltallfiltersdownto Mr. Drazen's estimate 25 that estimate provided by Mr. Drazen. Hydro
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1 MR. GRENEMAN: 1 A. Canyou state that again?
2 has accepted that thereisadifference. | 2 Q. Dol understand that you don’'t disagree that
3 don’'t believe they’ ve done their own estimate 3 there may be some cost differences from
4 of that. And - 4 Labrador West and Happy Valley-Goose Bay in
5 HEARN, Q.C.: 5 al three major components of costs, ie,
6 Q. Butwhenyou're using aphraseology such as 6 generation, transmission and distribution, but
7 "not significant", 1’d like to know more 7 you would add the caveat that the cost
8 precisely what that meansin costing terms. 8 differencesin distribution are not terribly
9 A.Would you give me a moment? 9 significant?
10 Q. Certainly. 10 A.If | could--l1 see virtually no cost
11 A.If | look at Mr. Drazen's, and | have--I'm not 11 differences in generation and distribution.
12 sureif thisis hisrevised. Thisis his 12 Q. No cost differences in generation?
13 revised table 4. And | look at distribution, 13 A. Except for the 38 megawatts of generation.
14 which iswhat you're focusing on and | observe 14 But from Churchill Fallsthere' svirtualy no
15 that Happy Valey-Goose Bay is 2.87 million 15 difference. Andwhat I’'ve argued--what I’ve
16 and Lab West is 2.7 million, that, in my view, 16 put forth in my preface, if | could, isthat
17 is not significant. 17 you achieve the same function in Lab West for
18 Q. So you'resuggesting that theremay be a 18 the 38 megawatts through the fact that you
19 difference, but it'samodest differencein 19 have a dua Twinco line. So their
20 the overall--in that component? 20 functionally equivalent. Yes, | agreewith
21 A.Yes. 21 respect to cost there does exist 38 megawatts
22 Q. Just so we understand, but you don't disagree 22 of generation in Lab East.
23 that there may be cost differencesin al 23 Q. Andisthat 38 megawatts a cost that you would
24 three major components of cost? Subject to 24 regard as significant?
25 your caveat that the distribution - 25 A.In isolation it costs money to build 38
Page 27 Page 28
1 megawatts. If youtell mewhat contextto 1 Q. Youwill accept that thereisacost for 38
2 consider it in, | may have a different answer. 2 megawatts of standby generation?
3 Q. Considering it in the context of the cost of 3 A It costs money to build 38 megawatts of
4 electricity to Labrador East versus the cost 4 standby generation.
5 to supply electricity to Labrador West. 5 Q. Andthat standby generation was designed and
6 A.Itdependshow it mixesinintota. Butit's 6 services Labrador East.
7 al manifested down, once again, in Mr. 7  A.lwould say so.

8 Drazen’ s estimate of the two costs. 8 Q. Youtak about the Labrador system, what’s the
9 Q. Andyou don’ttake issuewith Mr. Drazen's 9 history of the operation of Labrador East and
10 costing in that analysis, do you? 10 Labrador West, have they been operated asa

11 A.Waell, actually, | do note that it’s not been 11 single system with common rates to date?

12 donein accordance with the principlesthat 12 A. Asamatter of fact, | understand there were
13 Hydro would normally use and | would not say 13 at least three separate systems. Aslate as

14 it'sanything other than arough estimate. 14 last year | understand there were three

15 For example, my understanding is he allocated 15 systems. There was Lab East, there was Lab
16 generation simply on kilowatt hours, which 16 West and Wabush. I’'m sorry, prior to that
17 would not normally be done. 17 there were three systemsin Lab West ismy
18 Q. How would you expect it to be done? 18 understanding, so there--as in many utilities,
19 A.Thereshould be some--would normally, in my 19 asthey are today, you can visit the utility.

20 view, be some demand or capacity element in 20 One | visited even afew weeks ago and looked
21 the alocation. 21 at amap on the wall that shows the evolution
22 Q.ltcanbedonein energy termsor demand and 22 of where they are right now and all the dozens
23 energy terms, can it not? 23 of little entities as they’ ve been combined to
24  A.lt'sa rough estimate, and | viewitas a 24 make it apresent day utility. So there have

25 rough estimate. 25 been some combinationsin Lab West through
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1 MR. GRENEMAN: 1 A Yes, absolutely.

2 today. 2 Q. For the past--the entire history of Labrador

3 HEARN, Q.C.: 3 West.

4 Q. Soyouwould accept then that Labrador East 4 A Yes

5 and Labrador West have not to date been 5 Q. Doesthat history make adifference?

6 operated as asingle system with a single set 6 A.Not necessarily. In generad, utilities have

7 of rates? 7 evolved to larger utilities through the

8 A.I'mnot sureabout theword "operated as'. 8 present day by acquiring smaller utilities,

9 They’ve had separate rates. 9 smaller distribution systems. And many of the
10 Q. Doyou know how those rates roughly compare? |10 distribution systems had differencesin prices
11 A.Yes 11 and one was higher, one was lower, they could
12 Q. What would be the rough comparison of rates 12 have been four to one ratiosin terms of cost.
13 between the two areas? 13 But ultimately in most instances, the rates
14 A.They'recurrently roughly ina 2to 1ratio; 14 have been consolidated and combined into a
15 Lab West being lower. 15 singlerate. Although historical ratesisa
16 Q. lIsitfairtosay that they’ve been operated 16 factor or factor, there are other factors that
17 in this manner for some--well, since Lab West 17 comeinto play. One of themisinflation. So
18 came in existence which would be some 40, 50 18 it'show long have the rates been in effect
19 years ago? 19 with respect to inflation. Another oneisdo
20 A.l would surmise that Lab West has generaly 20 customers or did customers have areasonable
21 been lower than Lab East but | don’'t have any 21 expectation that their rates were very low and
22 direct information or evidence in front of me 22 might likely be combined with another system
23 to support that. 23 and thereby result in higher rates. So,

24  Q.But would you accept that they’ve been 24 factorsthat enter intothis arenot only
25 operated with a separate set of rates? 25 historical considerations but inflation, well
Page 31 Page 32

1 expectation of possible increasein rates, and 1 A. There are probably numerous examples. | note

2 aswell, the absolute rate level. 2 that by saying 10,000 each, you're excluding

3 Q When you say not only historical 3 the Isolateds.

4 considerations, do you accept then that 4 Q. I'mtalking about Labrador East and Labrador

5 historical considerations become a factor to 5 West but we' re talking about a situation where

6 be considered? 6 you have two essentially municipal areas that

7 A.Historical considerationsare a recognized 7 have a population in that order of magnitude.

8 factor but so are other factors that | 8 And I'm asking if you can give us some

9 mentioned. And in order to move forward and 9 analogous system to that.

10 combine thingsinto asingle system, virtually 10  A. Thefirst thing that comesto mind is separate
11 al systems--1'm speaking in general about 11 water systems around surrounding Chicago where
12 large utilities within the Us and perhapsin 12 there were about 20 something systems that
13 Canadathat have acquired dozensof little 13 have been combined for rate purposes. Many of
14 systems, there have been discontinuities in 14 them have different hydraulic zones. That'sa
15 rates with respect to how they have been 15 water example.

16 chargedin thepast. Soin asense, if | 16 Q. What type of population would you be talking
17 could use the expression, you have to break 17 of there?

18 some eggs to move forward and combinethings |18  A. Very, very high population, the suburbs of

19 into an integrated system. 19 Chicago.

20 Q. Youtalk about anintegrated system. Can you 20 Q. Somillions of people potentially?

21 provide us with any illustration of the system 21 A. Potentialy.

22 wherein effect to municipal areas of roughly 22 Q. So how many systems, you say some 20 or So?
23 10,000 people each exist and there’sno more 23  A.lbdieveit's15tothelow 20s. I've been

24 system than that, and one area is expected to 24 personaly involved in that. That's awater

25 subsidize the other? 25 example.
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1 HEARN, Q.C.: 1 A.l'd haveto check that.
2 Q. I’'masking isthere any system where you have 2 Q. Dothey havedifferent cost characteristics
3 in effect, you know, one municipal area 3 for each municipality?
4 subsidizing another municipal areain two very 4 A. They most definitely could have. Sure, they
5 small population pockets, some 500 kilometers 5 have different cost characteristics. They’ve
6 apart? 6 been putinto the sameclass for costing
7 A.Wdl inthe caseof Northern Indiana Public 7 purposes for requirements, for requirements
8 Service and subject to check, they provide 8 wholesale.
9 service to different municipalities under very 9 .Is there one municipality expected to
10 similar or the same rate schedule and they’re 10 subsidize another roughly the same size?
11 definitely separate municipalities. 11 . Well, we have FERC approved rates, yes. |
12 Q. How many municipalities are we talking? 12 might take exception with your
13 A. Therewere four or three went to wheeling 13 characterization of subsidization and we could
14 only, there’ s only one full requirement left. 14 have adiscussion onthat. Sol’'m not sure
15 But the fact that they went to wheeling is not 15 oneis subsidizing the other really, but they
16 relevant in my view. There were four and the 16 would have the same rates. [|'ve other
17 cost--they’ ve been put into the same class for 17 examples but I'll wait.
18 costing purposes and my recollection isthey 18 .If you have other examples, then please
19 have the same rate and they’re separate and 19 provideit.
20 discreet municipalities. 20 . Aswas brought out by Ms. Tabone yesterday,
21 Q. How many municipalities are we talking? 21 out in the north, Pacific northwest there are
22 A. Four. 22 utilities that span several states and she had
23 Q. What type of population? 23 pointed out that they each have different
24 A.1'd haveto check that. 24 grades. What | might point out a little
25 Q. How far apart are they? 25 further to Ms. Tabone's statement is that
Page 35 Page 36
1 similar things exist in the east. For 1 .It's municipalities, it's Industria
2 example, Delmarva Power and Light, which 2 Customers.
3 serves Delaware, Maryland and Virginia, 3 . Would be numerousin any event?
4 although they have different rates, they have 4 .Yes. If | set out toresearch what you're
5 different rates not because of any type of 5 asking, I’'m sure | could find many examples.
6 subsidization, they have different rates 6 . | thought that that’ s--we were here to discuss
7 because they span different regulatory 7 it today, that if you're going todo any
8 jurisdictions and therefore they’ re forced to 8 research you would do it before presenting
9 separate their rates. The point | was going 9 your evidence.
10 to makeisthat under restructuring and open 10 . I’'vementioned a couple of examples and I’'m
11 access in the United States, regiona 11 sure there are numerous others.
12 transmission organizations are being formed, 12 . But you haven't deemed it worthy to research
13 otherwise known as RTOs where the individual 13 it in any more detail than that at the present
14 utilities that comprise the entire system have 14 time?
15 very different transmission cost structures. 15 . With all respect, | don’t think it’s relevant
16 But the rates have been combined into asingle 16 towhat I--the rationale | believeto bein
17 rate to the customer. So here's an example 17 support of the single system.
18 where the transmission customer canpay a 18 . Inthe situation of Labrador West, would you
19 single rate and each entity hasits own cost 19 accept that the mining companies have
20 structure, each of which can be very different 20 contributed substantially to the costs of
21 from each other. 21 construction of the distribution facilitiesin
22 Q. What sort of population are we talking about? 22 Labrador West?
23 A.Millions. 23 A.Yes, | would accept that.
24 Q. How many municipalitieswould we betalking 24 Q. And would you also accept that the Twin which
25 about? 25 is partially owned by the mining companies,
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1 HEARN, Q.C.: 1 contractual commitment, is that a relevant
2 doesn’'t seem to haveraised any objection to 2 consideration for this process?
3 the wheeling at no cost? 3 A.l understand your question, the answer is no.
4  A.They don't raise any objection to the wheeling 4 Q. Soyoudon't regard that as a consideration in
5 at no cost, okay. 5 -
6 Q. Arethe wishesor intentions of the mining 6 A.That'scorrect.
7 companies in making contributions and in 7 Q. Soinorder foritto beaconsideration, it
8 acquiescing the wheeling, are their wishesa 8 would havehad to bea firm, contractual
9 consideration in this regard? 9 commitment?
10 A. My understanding isthat Hydro isfreeto do 10 A.Would haveto beafirm -
11 whatever they--to restructure their ratesin 11 Q. The intention of the mining companies in
12 any fashion they feel is supportable and fair 12 passing over the assets for a nominal
13 and reasonable. | don’'t believe--I’m not sure 13 consideration to Hydro.
14 of their wishes--not Hydro’s wishes, of the 14 A.I’mnot an attorney. My understanding is that
15 mining company’s wishesbut | do know that 15 Hydro isfree to make asingle rate for
16 there’ s no cloud, if you will, over making one 16 Labrador and connected system with that
17 single system. There' s no restriction against 17 restriction based on any contract, and behind
18 it. 18 that I’'m not sure that I'm qualified to -
19 Q. There s no contractual commitment. 19 Q. You mentioned price signals, do you know what
20 A.That’s my understanding, yes. 20 difference the contemplated rates are expected
21 Q. If the assets were perhaps passed over at 21 tobein Labrador West versuswhat they are
22 nominal or no cost with theintention of the 22 now with Hydro’ s proposed rate increases over
23 rate increases being based on additional cost 23 the next five years?
24 to service the local Labrador West 24 A.lam.
25 communities, even in the absence of the 25 Q. What would be the differencein cost for
Page 39 Page 40
1 Labrador West in 2008 versus now, on a 1 October 31st.
2 percentage basis? 2 A.Sorry, | take that back. Upon looking at this
3 A l'msorry - 3 table | revise that to be 92.2 percent.
4 Q. What would be the differencein projected 4 HEARN, Q.C.:
5 costsfor the customersin Labrador Westin 5 Q. 922 percent being which increase?
6 2008 versus the present cost? 6 A.That'sLabrador West.
7 A.lIt'sroughly, subject tocheck andif I'm 7 Q. That's alLabrador West total from--you're
8 interpreting the schedules I'velooked at, 8 relying on the full year 2008 and the
9 properly, something in the order of 149 9 cumulativetotal at the bottom of that chart?
10 percent. But | would add that only 102 10 A.I’'m noting that on--I'm observing that on
11 percent roughly is dueto the combination of 11 table 5, the lower right hand number is 92.2,
12 thetwo systemsand 129 percent isdue to 12 subject to how that table was created.
13 normal increase in operating cost. 13 Q. What would that trandate intoin average
14 Q. Sorry, would you just repest that again? 14 ratesin Labrador West in 2008 compared to
15  A. My understanding is that in 2008 as compared 15 average ratesin Labrador West in 20037
16 with, I'm not sureif it's 2003 or 2002 or 16 A.ldidreview it, I'd have to go through -
17 2004, but the increase--as a matter of fact - 17 Q. think, again, there's a chart in Mr.
18 GREENE, Q.C.: 18 Banfield's evidence that assists in that
19 Q. Actudly, if you look at table5 to Mr. 19 regard. Schedule 3, pagel of 2 may be of
20 Banfield' s evidence, the differencein the 20 assistancein that regard. What does that
21 existing rates and the proposed ratesin 2008 21 show the 2003 rates in Labrador West to be on
22 are broken out from Labrador West to Happy- 22 the kilowatt hour basis?
23 Valley, Goose Bay by customer class. So 23 A. For which class?
24 that' s table 5 to the evidence of Mr. Banfield 24 Q. For class--look at class 2.1, | believethat's
25 filed with respectto Labrador, filed on 25 general services.
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1 MR. GRENEMAN: 1 Q. Andyet we'relooking at--well the kilowatt
2 A.$9.10 per monthand 2.2 cents per kilowatt 2 hour charge, even excluding the basic charge
3 hour. 3 going from 2.2 cents to approximately 5.1
4 HEARN, Q.C.: 4 cent?
5 Q. Andin 2008 for that class, what would be the 5 A.Yes. Thepointl wastrying to makeis |
6 respective demand and energy charges? 6 don’t think this period, this five-year period
7  A. There’sno demand chargein that. 7 isthe relevant period upon which to look at
8 Q. I'msorry, basic charge, excuse me. 8 inflation, and inflation is only one factor.
9 A.It's$10.10 per month and 5.086 cents per 9 Q. Duringthis, whileinflation, that one factor
10 kilowatt hour. 10 isinthe single digits as you would project,
11 Q. Would you agree that that'sa significant 11 we're seeing the price of eectricity in
12 percentage increase over five years, in 12 Labrador West being almost two and a half
13 absolute terms? 13 times as much.
14 A. One must view it in the context of inflation, 14  A.| seethat.
15 expectation of the increase and the absolute 15 Q. Would you accept that that is asignificant
16 level of the increase. 16 rate shock for the consumersin Labrador West?
17 Q. Intermsof inflation, what would you project 17 A. Not necessarily, becauseit’sstill avery,
18 inflation to be over that period of time? 18 very low rate.
19 A .Wdlldon't think it'sso much within this 19 Q. Youobviously don't livein Labrador West.
20 period of time, | think it’s also with respect 20 A.I'mpaying about .25 akilowatt hour in Con
21 to history - 21 Edison, that’ s rate shock.
22 Q.| wonder if you might just answer my question, 22 Q. Youobvioudy don'tlive in Labrador West.
23 what would you project inflation to be from 23 From 2.2 to 5.1 kilowatt hour charge plusa
24 2003 to 2008? 24 basic charge could be seen as significant rate
25  A. | would anticipate it would be single digit. 25 shock for Labrador West.
Page 43 Page 44
1 A. Rateshock is asubjective--it’ s the customers 1 A.Well, maybe subsidized is not the correct word
2 that perceive rate shock, and as | had 2 but knowledge of the fact that there was
3 mentioned, there are many--the number of 3 essentially no cost wheeling over the Twinco
4 considerations that enter into that, and one 4 lines and that there were contributions made.
5 of them is whether or not they had a 5 So -
6 reasonabl e expectation that there might be a 6 Q. They've enjoyed the benefit of the subsidies
7 change. My understanding is these customers 7 from the mining companies.
8 have had areasonable expectation of the 8 A.lwouldagree.
9 change. Inasense, they’ve been subsidized 9 Q. Butapart fromthat, is there any indication
10 inthe past. Now they're paying really the 10 that the consumersin Labrador West have not
11 legitimate cost of service. Soit’s very hard 11 been paying the full Cost of Service?
12 to characterize it in the way you are, out of 12 A. It dependswhat is defined as the full Cost of
13 context. 13 Service, how the full Cost of Service is
14 Q.| wonder if--you've said that customers have 14 defined.
15 reasonable expectations of thischange, is 15 Q. When Wabush was aseparate system and was
16 that what you just said? 16 taken over by Hydro, and it was operated for a
17 A. My understanding isthey may have known this 17 considerable number of years, tracking its
18 was coming for acouple of years, at least 18 costs, what was the result of the last hearing
19 since P.U.7. 19 reguest to rebate excess monies back to Wabush
20 Q. Are you saying simply that they’ve been 20 consumers?
21 informed that Hydro wishes to do this? 21 A. Theresult wasthat the monies were refunded
22 A.Yes. And aso perhapsthe realization that 22 to the later existing customers and that was
23 they have been for many years enjoying what | 23 based upon a different basis of measurement at
24 would term subsidized rates. 24 that time.
25 Q. How were the rates subsidized? 25 Q. Wasthe measurement a measurement set by this
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1 HEARN, Q.C.: 1 at hand.
2 Board in terms of costs to service Wabush? 2 Q. Couldit have been in the order of magnitude
3 A. |l would think so. 3 of gross revenues of a million, two million,
4 Q. Were themonies that wererefunded excess 4 three million?
5 monies over and above those defined costs from 5 A.ldon't know.
6 that time? 6 Q. l'dsuggest to you that on the costs as they
7  A.If | understand you correctly | think that's 7 were defined at that time, that the rebate
8 my understanding as well. 8 showed that there was asignificant annual
9 Q. What was theorder of magnitude of that 9 surplus generated each year, based on costs as
10 rebate? 10 they were defined at that time. Would you
11 A. Per customer or total? 11 accept that?
12 Q. Total, aggregate. | suggestthat it was 12 A.Yes.
13 approximately three million dollars. 13 Q. Doyou have any evidence to say that apart
14 A. | probably have that somewhere but I'll accept 14 from the subsidies provided by the mining
15 it. 15 companies, that the Labrador West area was not
16 Q. What would be the annual revenues collected by 16 paying its costs as they were defined at that
17 Hydro from Wabush during that period of time, 17 time?
18 approximately? 18  A.No, asit was defined at that time, | have no
19  A. | don't know offhand. 19 evidence.
20 Q. Doyou have any order of magnitude? 20 Q. Youvementioned that factor--1'll just check
21 A. Theannua revenues collected by - 21 my notes about the--you talked about Hydro, we
22 Q. From Hydro, from the Wabush customers during 22 have to send the appropriate signals and that
23 the period of time that the rebate was 23 if it'spriced, energy is priced too low ina
24 accumulated. 24 different area, it may deprive Hydro of export
25  A.I'd haveto research that, | don’t have that 25 saes.
Page 47 Page 48
1 A Yes 1 Q. What power is Hydro exporting?
2 Q. Two aspectsof that. One, is there any 2 A.It'sexporting power from Churchill Fallsto
3 evidence of wasteful consumption in Labrador 3 Hydro Quebec.
4 West? 4 Q. How much?
5 A.Only to the extent that there is some 5 A.Pardon?
6 easticity, if there’'s some correlation 6 Q. How much energy?
7 between price and consumption. 7  A.l understand it'sthe production pluswhat’s
8 Q. Andisthere--are you seeing that correlation 8 taken in its own serviceterritory, in Hydro's
9 in Labrador West? 9 service territory.
10 A.Have | seen it? I’venot seen anything 10 Q. So you're referring to the production of
11 persondly, it may have been suggested, | 11 CF(L )Co areyou?
12 don’t know. 12 A.I'msorry, | didn’'t hear you.
13 Q. How doesthe price charged in Labrador West 13 Q. Are you referring to the production of
14 and projected to be charged in Labrador West 14 CF(L )Co?
15 compare to Hydro’ s export price? 15 A.Yes | am.
16 A. My understanding is at certain pointsit could 16 Q. Doyou know the CF(L)co export price?
17 be lower than the export price and there'sa 17 A.l thinkit's inthe order of three point
18 possibility it can be greater than the export 18 something cents, subject to check. | don't
19 price, but I think it’sright around, plus and 19 know the exact number. | did know the exact
20 minus, right around the export price. At 20 number -
21 timesit can beless. My understanding is at 21  Q.CF(L )Co'sexport price isin theorder of
22 timesit can belessthan the export price. 22 three point something cents?
23 My understanding is that the export priceis 23 A.I'd haveto check that.
24 up for renegotiation and | don’t know what 24 Q. Wdll let me suggest to you and Ms. Greene will
25 that value is going to be. 25 certainly correct meif I'mincorrect, that
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1 HEARN, Q.C.:

© 00 N O o~ WDN

the present export price for Churchill Falls
ismore in the range of 2.56 mills.

GREENE, Q.C.:

Q. There's confusion, obviously, between the line
of cross-examination. Mr. Greneman believes
that--there are two things going on here. Mr.
Hearn istalking about the CF(L)co export
price with which heisfamiliar, whichisthe

© 00 N o ok~ WODN P

Page 50
with respect, the witnessindicated that he
wastalking about the CF(L)Co export price.

So if there' saconfusion, it's not on my part

and I’'m asking the witness to explain what he
meant by his comments and what he means by his
evidence. Soif there’saconfusion then -

GREENE, Q.C.:
Q. | think the problem is he' stalking about the

price where Hydro sells cF(L)co power. And

10 power contract between Churchill Falls and 10 whether you call it CF(L)Cco power or Hydro
11 Hydro Quebec which hasa very low mill rate. 11 power, it is confusing.
12 What Mr. Greneman is referring to is the 12 HEARN, Q.C.:
13 recall block of 300 megawattsthat has been 13 Q. With respect, perhaps we could hear from the
14 recalled from the power contract at Hydro’s 14 witness asopposed to Ms. Greene on this
15 request, Newfoundland and Labrador Hydro, 15 point.
16 Newfoundland and Labrador Hydro used the 300 |16 GREENE, Q.C.:
17 megawatts available under the power contract 17 Q. Andtheother thingis| do believe thisis
18 and has recalled it to supply customers in 18 irrelevant evidence in any event. |’'ve been
19 Labrador and then it resellsthe balance at a 19 trying--in order to get as many questions as
20 much higher price than the original power 20 Mr. Hearn would like to ask on the record, we
21 contract price, and | think there’s been 21 have an objective but a lot of the questions
22 confusioninthe - 22 have been irrelevant and the export revenue
23 HEARN, Q.C.: 23 that CF(L)co derived on this power contract
24 Q. Wdll, I'm asking the witness what he referred 24 sales is one of those issues that's
25 to and | appreciate Ms. Greene’ s comments but 25 irrelevant.
Page 51 Page 52
1 HEARN, Q.C. 1 .I’mnot goingto get into the relevancy of
2 Q. Withrespect, Mr. Chairman, if | may, | mean 2 specific questions, | think if we get into
3 it'sMr. Greneman that’sreferred to one of 3 that we'll be herefor along, longtime. |
4 the factors asbeing Hydro’'s opportunity to 4 think there’ s an opportunity for Mr. Hearn to
5 export and I'm canvassing what that factor 5 ask the question. | think thisis an awkward
6 means. So if thisis seen asirrelevant, then 6 aspect of the proceeding and | think that the
7 it's simply because Mr. Greneman has referred 7 questions, in fairness, Mr. Hearn, that you're
8 toit asarelevant factor that | regard it as 8 asking the witness, | think he'strying to do
9 relevant. So | find it rather confusing if 9 his best to answer them, would have probably
10 Ms. Greene is now saying thisline of inquiry 10 been better put to Hydro witnesses, either
11 isirrelevant when it's being presented by her 11 previously or subsequent witnesses to
12 very own expert as being one of the 12 establish the facts and the evidence on the
13 considerations. 13 record. | think in fairnessto Mr. Greneman
14 GREENE, Q.C.: 14 we should give him the opportunity to respond
15 Q. Thepoint | was making is that the arrangement 15 to the questions which | think he'strying to
16 between Churchill Falls Labrador Corporation 16 dointhe best fashion certainly he can. |
17 Limited and the power contract and the mill 17 think in relation to some of the details of
18 rate to which Mr. Hearn referred isirrelevant 18 the information, it would beas| say, more
19 to this hearing. The issue of any profit that 19 appropriate for Hydro witnesses and refer to
20 Newfoundland Hydro may makeonits salesto |20 therecord on that. So | appreciate the fact
21 Hydro Quebec is what Mr. Greneman was 21 that Ms. Greene is tryingto clarify any
22 referring to and | am not saying that that is 22 confusions that are coming up and in fairness,
23 irrelevant. There is a difference, my 23 | think that’s the only way to proceed and we
24 position. 24 should probably appreciate that fact in
25 CHAIRMAN: 25 putting the questions to the witness. Indeed,
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1 CHAIRMAN: 1 fairness to the witness, the best way to bring
2 if you have knowledge of information in 2 them out.
3 respect to the answer to the question and the 3 HEARN, Q.C::
4 answer to the information by way of afactua 4 Q. But with respect, Mr. Chairman, I’'m asking the
5 basisthat it could be done on an acceptance 5 witness' understanding of those facts because
6 or agreement between yourself and the witness, 6 thisisthe rationale that he has put forward,
7 if you could be guided by that, please. 7 and that's why | intended, and it won't be
8 HEARN, Q.C.: 8 terribly lengthy to go--what | did intend to
9 Q. Mr. Chairman, I’d certainly be guided by the 9 probe what Mr. Greneman’ s understanding is of
10 Chair’s comments, but | would point out that 10 Hydro'sexport sales. Soif | may, and I’ll
11 it's Mr. Greneman that referred to depriving 11 try to keep the questions focused in that
12 Hydro of additional export sales, and what | 12 regard.
13 want to canvas here iswhat Mr. Greneman 13 CHAIRMAN:
14 understood by that. So that’swhy |I'm asking 14 Q. Andinfairness, some of those understandings,
15 what his understanding is of Hydro's 15 I’'m sure Mr. Greneman hasat hisfingertips
16 opportunity price and actual price in export 16 and others he doesn’t, and | want to be fair
17 versus the price charged in Labrador West. So 17 to the witness here as well.
18 with respect, | think that the questions are a 18 HEARN, Q.C.:
19 useful probing of what’s been put forward asa 19 Q. Waell, and I'm tryingto be fair to the
20 rationale. 20 witness, but at the same time, thiswitnessis
21 CHAIRMAN: 21 putting forward depriving Hydro of additional
22 Q.| never commented, Mr. Hearn, on therelevancy |22 export sales as a consideration for this Board
23 of the questions. | commented on the nature 23 in setting rates for Labrador West.
24 of the facts that aretryingto be explored 24 CHAIRMAN:
25 here and how they’re getting explored, and in 25 Q. Understand.
Page 55 Page 56
1 HEARN, Q.C. 1 A.I'msorry, isgoing to Hydro Quebec. So the
2 Q. That's why it'sregarded as important to 2 dynamics| wasreferring to isthat if the
3 clearly probe thisarea, with respect, Mr. 3 Labrador system uses more, there’sless to
4 Chairman. Thank you. 4 sell.
5 CHAIRMAN: 5 (10:15am.)
6 Q. Thank you. 6 Q. Lesstosdl by Hydro?
7 HEARN, Q.C.: 7 A.Yes, orviceversa and that'ssimply what |
8 Q. Mr. Greneman, we won't unduly belabour it, but 8 was referring to.
9 | did want to understand what you meant by 9 Q. Whatisthe order of magnitude or what’sthe
10 Hydro's export sales, and you referred to an 10 actual price of Hydro's export sales?
11 understanding of aprice of some three point 11 A.Theprice for thetype of power that | was
12 something cents. | asked you whether you were 12 referring to, something in themid threes
13 referring to the sales of cr(L)co. Did | 13 staysin my mind. | don't know if it's a
14 understand you to say that you were referring 14 possible number after it's negotiated or the
15 to the sales of CF(L)Co? 15 current number, but what I’m trying to convey
16 A. Okay, if | could explain it in my own words? 16 is the mechanism rather thanthe absolute
17 Q. Certainly, certainly. 17 price and the fact that the price that I'm
18  A.l understand that there's ablock of power 18 referring to, in relation to therate, could
19 being made by Hydro from Churchill Fallsto 19 be alittle--the rate could be alittle under
20 Hydro Quebec at alevel such that from that 20 or it could be a little over, so the
21 block, it's serving it’s own customers in the 21 possibility does exist. It’ s this mechanism |
22 Labrador system and whatever is left over is 22 wastrying to -
23 going to Churchill Falls. 23 Q. Have you examined whether the price is a
24 Q. Areyou saying whatever isleft over isgoing 24 little higher or alittle lower?
25 to Hydro Quebec? 25 A.Yes, | have, and at one point, in early years,
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1 MR. GRENEMAN: 1 A Sayagain?

2 the price was lower. 2 Q. Youhaven't put it in your evidence?

3 HEARN, Q.C: 3 A.No, only qualitatively.

4 Q. Which price was lower? 4 Q. But there’' s not quantitative figure that we' ve

5 A.Thepriceto Lab West if they stayed--if Lab 5 been presented with by you?

6 West remained a separate system, my 6 A.No, because the concept was qualitative to

7 understanding is that price would be lower. 7 begin with.

8 Q. If it remained a separate system at what rate? 8 Q. Canyou tell usthe difference?

9 A Attheexisting rate, | would say. 9 A. Thedifference between?
10 Q. Solet’s choose the general servicerate of a 10 Q. Thedifference between the basic price and
11 kilowatt hour charge of 2.2 cents a kilowatt 11 what you understood to be the higher export
12 hour. How does the export price of Hydro 12 price, can you give us a percentage difference
13 compare to 2.2 cents a kilowatt hour? 13 between 2.2 cents -
14 A. Could you advise me of the export price of 14 A Likel said, if somebody could advise me, |
15 Hydro? 15 don’'t--1 had the price and | somehow don't
16 Q. No, I'm asking do you know. 16 have it with me this morning.
17 A.l don’'t know the number at hand. 17 Q. How does that price, that export price
18 Q.| don't know the - 18 presently compare to a projected kilowatt hour
19  A.ldid know the number and | don’t haveit at 19 chargein 2008 of 5.086 cents?
20 hand. 20 A. My recollection isthat 5.086 is higher.
21 Q.Did you examine that in reaching this 21 Q. By what order of magnitude?
22 conclusion? 22 A.Onceagain, | don’t know the export price at
23 A.| believe that was my process, yes. 23 hand. | don't have that at hand.
24 Q. Butyouhaven't tenderedit, and you're not 24  Q.May | suggest to you that that’s probably in
25 aware of it? 25 the range of double the export price, at

Page 59 Page 60

1 least? 1 A.lthought you demonstrated it for us, 2.2

2 A. My understanding isthat it may be double the 2 versus what was the other number?

3 current export price, but that may--1"m not 3 Q. You haven't provided us with the other number.

4 sure if that contract is subject to 4 You'vejust said you think it’slower, and |

5 renegotiation until 2008. 5 don't think it's -

6 Q. I'msureit’ll be welcome newsif we find that 6 A.No, you--I'm sorry, | thought you had

7 Hydro is somehow getting Hydro Quebec to pay 7 mentioned a number just now.

8 more than five cents a kilowatt hour. Do you 8 Q. No, we taked about the export price of

9 have any evidence of that? 9 CF(L)co whichis intherange of 2.56 mils,
10 A.l havenone. 10 not cents, and Ms. Greene suggests that you
11 Q. My point iswhen you're saying depriving Hydro |11 must have been referring to the export price
12 of additional export sales, | would suggest to 12 of Hydro from therecall, the unused recall,
13 you that there’ s no evidence that these export 13 and that’s not in evidence, as | understand
14 sales would produce any additional revenueto 14 it, beforethisBoard. I'm not certainit’s
15 Hydro. 15 even in the public domain. It may be, | don’t
16 A. There'sno evidence - 16 know. You'vesaid--you haven't givenus a
17 Q. Theré's no evidence that decreasing 17 number in that regard, but you indicated that
18 consumptionin Labrador West will increase 18 you think it’s lower?
19 revenue to Hydro by getting a higher pricein 19 A.l haven't givenyouthe number. | had the
20 export sales. 20 number. | don’'t have it with me this morning.
21 A.Didn’t we just demonstrate that currently that 21 My prior investigation showed that yes, there
22 can happen? 22 isadistinct possibility that aincremental
23 Q. Wadl, I'mnot sure you demonstrated that, 23 increase or decreasein consumptionin Lab
24 because you' ve said you' re not certain of the 24 West can result in additional revenue or loss
25 present rate. 25 of revenue with respect to the recall power.
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1 HEARN, Q.C: 1 A.Ithink your point is probably going to go to
2 Q.| suggest to you that even the present export 2 thefact that what we're discussingis De
3 price is not far removed from the present 2.2 3 minimis.
4 cents that we're referring to in that customer 4 Q. Absolutely.
5 classin Labrador West. 5 A.Yes, that'spossible.
6 A.I'll acceptthat. My point wasthat it could 6 Q. Inyour evidence on page two, line 9, you say
7 be on one side or the other. 7 "thetotal cost is certainly afactor. There
8 Q.| would suggest to you that there's no 8 are other and perhaps equally relevant factors
9 indication that the present price signals 9 that should be considered,” and you mentioned
10 deprive Hydro of any significant additional 10 price signals, value of service, opportunity
11 export sales. 11 costs. Isthat ageneral statement or are you
12 A.Sorry, | still think the possibility can 12 referring only to Newfoundland and Labrador
13 exist. 13 Hydro?
14 Q. What about of energy are wetalking about 14 A. Some of them perhaps could be general and some
15 here? 15 were very specific with respect to
16 A.It's quditative. | think even for one 16 Newfoundland and Labrador Hydro. For example,
17 kilowatt hour, | think the possibility--my 17 one point | have left out, and I’'m sorry, is
18 examination showed that the possibility can 18 with respect to marginal costs, and | had
19 exist. That wasthe only point. 19 asked a request for information on this.
20 Q.How much power has been exported from 20 There' s been alot of discussion on theidand
21 Churchill Fallsto Hydro Quebec? 21 with respect to margina--the Island
22 A.l don’t havethat at hand. 22 Interconnected system with respect to marginal
23 Q. If weincluded Hydro and cr(L)co, would it be 23 cost, and here, Mr. Drazen isfocusing on
24 in the range of some 30 billion kilowatt hours 24 embedded costs. But looking forward, |
25 annually? 25 understand that both lines are pretty near
Page 63 Page 64
1 capacity and to add additional capacity on the 1 contemplated? Is there any reasonable
2 west or the east, either way, is pretty close 2 contemplation of construction of anew line at
3 to 55 million dollars for atransmission ling, 3 the present time?
4 regardless of whether it goes east or west and 4 A.I’'mnot aware of that.
5 they would be 230 kV lines. So with respect 5 Q. Isthere any contemplation of new industry in
6 to margina costs, we're looking at 6 Labrador East that requires a new run?
7 effectively the same cost of power, the same 7 A. | have not inquired about that.
8 cost of transmission, and aswe discussed 8 Q. Sothere's nothingin evidenceto indicate
9 before, virtualy insignificant distribution 9 that that’s areasonable possibility at the
10 differences. So - 10 present time, is there?
11 Q. Mr. Greneman, isthat arealistic possibility? 11 A. There sbeen nothingin evidence. | don't
12 A.I’'msorry, iswhat? 12 know whether it’'s a reasonable possibility at
13 Q. Isexpansion of either the linesto Churchill 13 the present time.
14 Fals, from Churchill Falls to Lab East or 14 Q. You'd accept there’ s nothing in evidence?
15 Labrador West, is that a reasonable 15 A.Yes
16 possibility? 16 Q. Would you say that aligning rates with cost of
17 A.55milliondoesit. If it'spretty closeto 17 service isthe most widely recognized measure
18 fully loaded now, it depends upon growth. 18 of rates that are equitable and non-
19 Q. Yes. Doyou know something about growththat |19 discriminatory?
20 those of usin Labrador don’t know? 20  A. Sounds like my own words.
21 A.No, but | know something about marginal cost. 21 Q. Yes, you may recall those words. So | take it
22  Q.Butisthereany - 22 you would agree with what you said in lowain
23 A.Andthere's- 23 19807
24 Q.- projected new development for Labrador West 24 A.What did | say then?
25 Q. Yousad that "rates that"--"Mr. Greneman
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1 HEARN, Q.C.. 1 MS.NEWMAN:
2 testified that rates that recover revenues 2 Q. If there's no objection, it would be
3 that arein relative alignment with class 3 information item No. 21.
4 revenue requirements determining using a Cost 4 GREENE, Q.C.:
5 of Service Study are the most widely 5 Q. Therulesrequirethat if anything wasto be
6 recognized measure of rates that are equitable 6 put to the witness, other than testimony he
7 and non-discriminatory.” By theway, |'ve 7 had given himself, it was to provide itin
8 givento theclerk some excerptsfrom that 8 advance and the opportunity wasto be provided
9 lowa hearing. So | don’t want to surprise you 9 to the witness to refresh hismemory. That
10 with anything where you can't refer to it and 10 was under the rulesof procedurefor this
11 I wonder if she might have passed them out to 11 hearing. Mr. Hearn has not followed that rule
12 counsel and to yourself. | don'twant to 12 of procedure. | haven't seen this before. |
13 refer you to thingsand you not having the 13 don’t know what itis. 1 mean, | don't want
14 reference in front of you. 14 to delay where we are, and maybe if Mr. Hearn
15 CHAIRMAN: 15 could -
16 Q. Ms. Newman, Information Item - 16 HEARN, Q.C.:
17 HEARN, Q.C.: 17 Q Wewon't -
18 Q. These are excerptsfrom a 1980 - 18 GREENE, Q.C.:
19 CHAIRMAN: 19 Q.- but that wasthe rule of procedure that was
20 Q.| wasjust asking Ms. Newman information - 20 set by the Board for this hearing.
21 HEARN, Q.C.: 21 HEARN, Q.C.:
22 Q.- lowaproceeding. 22 Q.ldon't think we're goingto getinto any
23 A. 19907 23 substantial disagreements on these points and
24 Q. Sorry, | said 1980. | should say 2000. | 24 it's not anything that we're--we're just
25 misspoke, pardon me. 2000 lowa proceeding. 25 applying--1"m putting some principles to -
Page 67 Page 68
1 CHAIRMAN: 1 them to be incurred?
2 Q.| begto differ, Mr. Hearn. The rules are the 2 A.Yes.
3 rules. If | start to go down that road on the 3 Q. ls it your position that the rates for
4 basis of that these may not be terribly 4 Labrador West customers and Labrador East
5 significant, | don’t know where that could end 5 customers should be equal ?
6 up. I’'mprepared to not enter these in at 6 A Yes
7 this point in time. 7 Q. lsit nottruethat equal ratesmay not be
8 HEARN, Q.C.: 8 equitable rates?
9 Q. I respect that, Mr. Chairman, and I'll simply 9 A. Those have always been my words, but I’d like
10 be asking general questionsiswhat I’m saying 10 to explain what that means, if | may?
11 in relation to that. So I’m not suggesting-- 11 Q. Certainly.
12 if we're not to refer to those, that’ s fine. 12 A.Inrate making, equal rates are not equitable
13 Would you agree--well, perhapswe can 13 rates and the real basisfor that statement
14 just go back to the earlier question. Do you 14 refers to the three types of cause causation
15 agree that aligning rates with cost of service 15 that a utility incurs, namely energy related
16 can be said to be the most widely recognized 16 costs or those costs that vary in a one-to-one
17 measure of ratesthat are equitable and non- 17 proportion with the number of kilowatt hours
18 discriminatory? 18 produced or sold. The second type of cost
19 A.l whaolly agree. 19 related to cause causation are demand or
20 Q.Would you agreethat maintaining historical 20 capacity costs which are related to the
21 relationshipsis also an important factor? 21 quantity of kilowatt hours produced or sold
22 A.l haveindicated that before. 1t’safactor. 22 per unit of time, how many kilowatt hours are
23 Q. Would you agreethat it's awidely recognized 23 produced per hour at the maximum. And the
24 rate design principle that the utility should 24 thirdisrelated to, infact, is acustomer
25 recover costs from the customers that cause 25 cost related to whether or not--related to the
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1 MR. GRENEMAN: 1 Q. If there'sa difference, and Mr. Drazen has
2 fact that there isacustomer on the system 2 estimated, based on the figures | think that
3 and there are financial carrying costs 3 were then before the Board and they may have
4 associating with the meter and the service and 4 been changed somewhat since, but he referred
5 meter reading and billing. The statement that 5 to a difference between 8.9 million for cost
6 equal rates are not equitable rates refers to 6 of service for Labrador East and 3.6 million
7 the manner in which customers use their 7 for Labrador West. Does that in itself
8 capacity, whether they use it efficiently and 8 justify two separate systems?
9 have a higher load factor or inefficiently and 9 A. Absolutely not, and the reasonis, you can
10 have alower load factor, and further by the 10 take any system and split it into two and you
11 customer cause. That'sthe basic rationalein 11 could even choose which two, and there' |l be a
12 support of that statement and you can go that 12 cost difference, and two to one or two and a
13 one level deeper and say those customers that 13 half to one, in my view, is not significant.
14 take service at transmission should not pay 14 Theview mentioned yesterday by Ms. Tabone
15 distribution. That's pretty much the genesis 15 about postage stamp ratesand her view of
16 and extent of that statement that | agree 16 costing, | findto be consistent with what
17 wholly with it. 17 I’ve believed for many, many years, and it's
18 (10:30 am.) 18 indeed my point of view as well that you don’t
19 HEARN, Q.C.: 19 necessarily tear apart a system and say this
20 Q. Istherate equitableif it's consistent with 20 ison my side of the fenceand | don’t use
21 the cost of service? 21 that, becausethere are always offsetting
22 A.Totheextent that that is the basic measure, 22 differences when you do that. That’sto say
23 it doesn't--it has to be--it should be 23 you need to be very, very, very cautious when
24 reasonably aligned with cost. There are other 24 you start doing these assignments, and
25 factors that come into play. 25 furthermore, if you look at al these larger
Page 71 Page 72
1 utilities in the United States and each little 1 I’ve visited anumber of clients. | observe
2 entity that they acquired maintained their own 2 that different jurisdictions, different
3 identity, it would be an unmanageable quagmire 3 companies have different practices. | listen
4 of rates and considerationsand each having 4 to what their rationaleisand | heard Hydro's
5 their own separate cost of service. | believe 5 rationale and | agreed that the Island
6 it'sfair to cost east and west as asingle 6 Interconnected system should not be combined
7 entity. 7 with the Labrador Interconnected system. They
8 Q.In what circumstances would--or what 8 are two very different sources of generation.
9 difference of magnitude would justify two 9 They're different latitudes. They're not
10 systems? 10 connected in any fashion. So | believe they
11 Al don't think there's a difference of 11 should be separate.
12 magnitude at all that justifies two separate 12 Q. Youdagree that there's no policy of rate
13 systems, even if it'stento one, not in and 13 equalization on the entire Hydro system,
14 of itself. 14 including -
15 Q. Didyouplay arolein determining that the 15 A Justto-
16 cost of the Island Interconnected system 16 Q. Yes
17 should not be averaged with the cost to the 17 A. Atthe very beginning, my preface, if you
18 Labrador Interconnected system? Because you 18 will, said there are very--with respect to
19 could make the same argument, couldn’t you, 19 your question, yes, not with respect to all
20 that you could include - 20 systems, but there are very specific policies
21 A.I'msorry, | heard thefirst - 21 for rate equalization as practised by this
22 Q.- Yyou could make the argument that you include 22 Board and Hydro, and other provinces such as
23 al of the provincein that? 23 Manitoba.
24 A.No, | wouldn't make that argument. 1’ve done 24 Q. Manitobahas universal rate classes, doesit
25 quite a number of cost of service studies. 25 not?
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1 MR. GRENEMAN: 1 latitude. They arethe sametype of mix of
2 A.lwasinvolved in Manitoba about ayear and a 2 customers. They areserved froma common
3 half ago and before the purchase of Winnipeg 3 generating source. The similarity in line and
4 Hydro, it was a province wide policy for same 4 backup going east and west are functionally
5 classes of customersto have the same rate 5 identical. They'resoidentical that it, in
6 regardless of ownership. 6 my view, outweighs having them separate, and
7 HEARN, Q.C: 7 especially when viewed in context of the
8 Q.But here even in thishearing, Hydro is 8 rationale for what is being done with all the
9 proposing five setsof rates involving cost 9 other systems. It's my view that they should
10 differences among five different subsystems. 10 definitely be combined.
1 Would that be correct? 11 Q. Inwhat sense are customers in Labrador East
12 A . Well, they are, | mean, but there's a 12 similar to those in Labrador West?
13 rationale behind them. It's not just 13 A.It's basicaly the same type of mix of
14 arbitrary in a sense. 14 domestic and genera service, with no large
15 Q. What'sthe difference between having six sets 15 industrials.
16 of rates, based on the different cost 16 Q. How does aresidentia customer in Happy
17 structure? 17 Valley-Goose Bay differ from a residential
18  A. Thesix being east versus - 18 customer in St. John’s?
19 Q. Having Labrador East and Labrador West astwo (19  A. Therecould be different--by virtue of the
20 separate systems as they have beenin the 20 latitude and any potential temperature effects
21 past. 21 or wind chill effects, there might be
22 A.Thesmilaritiesand rationale for combining 22 differences. Latitude, I'm suggesting, isa
23 them in balance are greater than, and | think 23 possible factor.
24 far greater than the evidence and rationale 24 Q. Canyou give us some sense of the magnitude of
25 for separating them. They are the same 25 that factor?
Page 75 Page 76
1 A Intermsof? 1 MR. KENNEDY:
2 Q. What difference it makesin rates. 2 Q. For Mr. Greneman?
3 A Latitude, temperature, wind chill, what? 3 CHAIRMAN:
4 Q. Yes, well, those factors that you're referring 4 Q.Yes.
5 to. 5 MR. KENNEDY:
6 A.ljustnotethat it’'s ahigher latitude. 6 Q. No, Chair, no questions.
7 CHAIRMAN: 7 CHAIRMAN:

8 Q. Mr. Hearn, I’'m just trying to get ahandle on 8 Q. Okay. Well, | wasjust looking at the break.
9 timing here. We generally had two types of 9 So we'll continue on until we end this cross-
10 timing around a short day and along day, and 10 examination, which will give Mr. Drazen the
11 I’m not sure which today is going to bring. 11 opportunity to assume the witness stand after

12 Do you have any idea of how much longer you're |12 the break, | guess. It looks pretty good for

13 going to be with this witness? 13 -

14 HEARN, Q.C.: 14 HEARN, Q.C.:

15 Q. I’'monly afew more minutes with this witness, 15 Q. That'sfine. Thank you, Mr. Chair.

16 Mr. Chairman, and then | have Mr. Drazenwho |16 CHAIRMAN:

17 will be adopting his evidence and be available 17 Q. Thank you.

18 for cross-examination. 18 HEARN, Q.C.:

19 CHAIRMAN: 19 Q. If you equalize rates between Labrador West
20 Q. Thank you. 20 and Labrador East, doesthat mean that rates
21 HEARN, Q.C.: 21 in Labrador East are now lower than they
22 Q. ldon't expect, from our perspective, that 22 otherwise would be or will be lower than they
23 thiswill be along day. 23 otherwise would be?

24 CHAIRMAN: 24 A.You say the breaks?

25 Q. Mr. Kennedy, you don’t have any extended - 25 Q. Therates.
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1 MR. GRENEMAN: 1 walk by. | don't--I have no evidence of
2 A.Oh, therates. 2 anything.
3 HEARN, Q.C.: 3 Q. Those are my questions, Mr. Chairman.
4 Q. I’'msorry, | misspoke. 4 CHAIRMAN:
5 A.I'msorry, | heard breaks. 5 Q. Thank you, Mr. Hearn.
6 Q. Perhaps |’ m misspeaking. 6 HEARN, Q.C.:
7 CHAIRMAN: 7 Q. Thank you, Mr. Greneman.
8 Q. Wishful thinking. 8 CHAIRMAN:
9 A. |l misheard you. 9 Q. Thank you, Mr. Greneman.
10 HEARN, Q.C.: 10 MR. KENNEDY:
11 Q. If you equaizethe rates between Labrador 11 Q. Noquestions, Chair, asindicated. Thank you.
12 West and Labrador East, doesthat mean that 12 CHAIRMAN:
13 the ratesin Labrador East will then be lower 13 Q. Noquestions, thank you. Any -
14 than they otherwise would be? 14 COMMISSIONER SAUNDERS:
15  A.They'll belower than they're currently--I'm 15 Q. Noquestions, Mr. Chair.
16 sorry. Therewould tend to be alowering in 16 GREENE, Q.C.:
17 the east and an elevating in west. 17 Q.| did haveacouple.
18 Q. Yes. If youlower theratesin Labrador East, 18 CHAIRMAN:
19 does that encourage wasteful consumption over 19 Q. Sorry, you did in redirect, Ms. Greene?
20 there? 20 GREENE, Q.C.:
21 A. Not necessarily. 21  Q.Yes
22 Q. lIsityour position that customersin Labrador 22 CHAIRMAN:
23 West are engaged in wasteful consumption? 23 Q. Sorry.
24 A. | have no specific evidence that there is any 24 GREENE, Q.C.:
25 wasteful consumption. I've heard thingsas | 25 Q. Thefirst relatedto Mr. Hearn's questions
Page 79 Page 80
1 with respect to the linesto Lab East and Lab 1 contribution towards the upgrading at the time
2 West being at different voltages. 2 Hydro took over each of the systems. How is
3 A Yes 3 that reflected in the cost of service?
4 Q. TheonetoLabEastisat 138 kV and the one 4  A. That's been subtracted from cost of service so
5 to Labrador West isat 230 kV. Would that be 5 it hasno relevancy. Everything flows down
6 common in any system? 6 to, ina sense, Mr. Drazen's two estimates.
7 A. Ohyes, with respect to transmission, it could 7 It reflects the subtraction of all
8 be in either voltage. | don’t think the 8 contributions.
9 voltage level initself is significant. 9 Q. Soinfact, the contributions are reflected as
10 Q. Andinfact, it'squite common on theisland 10 abenefit tothe customersin thecost of
11 to havelines interconnecting that are at 11 service?
12 different voltages? 12 A. Yes, absolutely.
13 A. Absolutely. 13 Q. Andthose are all the questions that | have on
14 Q. Theother issuethat Mr. Hearn referred to is 14 redirect.
15 the fact that awheeling over the Twinco lines 15 CHAIRMAN:
16 to Labrador Westisat no charge. Inyour 16 Q. Thank you, Ms. Greene. Commissioner Saunders,
17 view, would that be similar to if the wheeling 17 you have no questions, you indicated.
18 was done over alinethat was owned by Hydro 18 COMMISSIONER SAUNDERS:
19 that had been fully depreciated? 19 Q. I have no questions.
20 A.If | had neglected to say that at the 20 CHAIRMAN:
21 beginning, yes, absolutely. 21 Q. Commissioner Whalen?
22 Q. Mr. Hearn also referred to the fact that the 22 COMMISSIONER WHALEN:
23 mining companies had contributed to the 23 Q.| just have one question, | think, Mr.
24 original construction of the distribution 24 Greneman. It'sredly just to get your
25 facilities and had aso made a capital 25 understanding of the definition of what your
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1 COMMISSIONER WHALEN: 1 service, | think that basically the same types
2 view would be of a- 2 of customers, and that’ s best reflected as a
3 A I'msorry, the definition of what? 3 single system, as has been the policy and
4 Q.- of what would you consider to be 4 practice of this Board as well as Hydro.
5 substantially similar circumstances and 5 Q. And that was the other point. | think lines 8
6 conditions in respect of customers? Would you 6 to 12 there, on page one of your evidence,
7 consider customersin Lab West and Lab East to 7 which is still on the screen, the last lines
8 fit that criteria? 8 11 and 12, Mr. Hearn referred you to these.
9 A.Yes | would. | think they're similar types 9 These include price signals, value of service,
10 of customers. There's asimilar type of 10 opportunity costs and public policy.
11 customer mix. As | had mentioned, what | 11  A.Yes
12 believe to be important in cost of service, as 12 Q. Public policy would be what you've just
13 amatter of fact even Bonbright statesthat 13 referred to, in the sense of that’s the policy
14 the role of cost of serviceisto discern the 14 of this Board and certainly of this
15 relative cost differences, not the absolute, 15 jurisdiction?
16 but therelative cost differences between 16 A.Well, what I’ ve been referring to is the fact
17 customer classes. | believe them to be very 17 that the isolated diesel areas are combined--
18 similar mix and that would be reflected asa 18 even though they are independent systems, they
19 single system. If one were to cost east and 19 are combined and costed asa single entity.
20 west separately, it would cause a 20 So in doing so, there is some recognition or
21 discontinuity in the rates to each customer, 21 in my view, some desire of this Board to try
22 so that atypical domesticin the west and a 22 to see a consistent type of rate, even though
23 typical domestic in the east could have very 23 these systems are separate. And in doing so,
24 significantly different rates and | think 24 you also recognize that they’re served by
25 that'sa--it's sort of atwist of cost of 25 diesel. They'reisolated. Let'snot havea
Page 83 Page 84
1 separate rate for each system. So | think 1 inconsistent with basic cost of service
2 that’s a policy consideration which has been 2 principles?
3 implemented and practised. Also, on the 3 A.No, and as was brought out by Ms. Tabone
4 Island Interconnected system, Hydro servesits 4 yesterday, | think basic cost of service
5 rural customers and it charges the rates not 5 principles are to combine--cost of serviceis
6 of its own costs but of Newfoundland Power’s 6 an averaging process andit’s not so much
7 costs. So that’s apolicy decision which has 7 picking and choosing. Thisis my side of the
8 been used by this Board and practised by 8 fenceand that’son my side of the fence.
9 Hydro, and | note aswell that in provinces 9 It'sin very large part an averaging process.
10 such as Manitoba, Winnipeg Hydro customers are 10 If you wereto take any system and cut it in
11 charged the same rates throughout the province 11 half, you would see price difference easily
12 and as well asManitoba's customerson an 12 two to one, three to one or greater. There's,
13 equivalent rate basis. 13 in asense, a socialization aspect of cost of
14 (10:45am.) 14 service where--and as | have pointed out in my
15 So | observe this typeof policy in 15 earlier evidence and Ms. Tabone has also
16 Canada, as evidenced in Manitoba, and as well 16 pointed out, for example, if an Industrial
17 in these two instances, namely isolated areas 17 customer wanted something beyond what a
18 in Hydro's service areas, aswell as its 18 customer would normally have, say an extra
19 Island Interconnected rural customers being 19 substation or afeeder linefor reliability,
20 served on NP srates. Also, if | may add, the 20 that’s something that may specifically be
21 Isolated Diesels are combined but they’re also 21 recognized in costing, but there are always--
22 in part--their rates are in part reflective of 22 no two customers have exactly the same cost of
23 Newfoundland Power’s rates. So thesethree 23 serviceand | think the main twist here, if
24 things | observe as being common policy. 24 you will, isthe fact that there’ s essentially
25 Q.You don't see anything in that policy 25 freewheeling over the Twinco line and that’s
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1 MR. GRENEMAN: 1 Q. That'sfine
2 like avery unique kind of arrangement, and in 2 HEARN, Q.C.:
3 my view, the benefit of that doesn’t accrue to 3 Q Andasking himto make any genera summary
4 whose side of thefenceit's on. It accrues 4 comments and then -
5 to Hydro asasingle entity and | think, in my 5 CHAIRMAN:
6 view, that supports asingle cost of service. 6 Q. Yes, okay, that'sfine.
7 Q. Thank you. That'sal my questions. 7 HEARN, Q.C.:
8 CHAIRMAN: 8 Q.- guess, thequestion could bereferred to
9 Q. Thank you, Commissioner Whalen. | have no 9 Ms. Greene, if she's going to be doing the -
10 questions. Are there any matters on questions 10 CHAIRMAN:
11 arising from the Board? Mr. Hearn, no? Once 11  Q.Yes. Ms. Greene, how much -
12 again, Mr. Greneman, thank you very much for 12 GREENE, Q.C.:
13 your testimony. 13 Q.| dohave questionsfor Mr. Drazen. | don't
14 A. Thank you. 14 anticipate that it would require usto have a
15 Q. lguess I'mlooking at timefor the break. 15 long day, but | will have some questions, and
16 Mr. Hearn, do you know how much--how long 16 | don’t know if the other parties do.
17 you'll be on direct? Do you have any idea? 17 CHAIRMAN:
18 HEARN, Q.C:: 18 Q. Mr. Kelly, would you have many?
19 Q. Wel, we'll simply be adopting - 19 KELLY, Q.C:
20 CHAIRMAN: 20 Q.| do not currently anticipate questions,
21 Q.lguess it'll be fairly short, relatively. 21 Chair.
22 Okay, that’sfine. 22 CHAIRMAN:
23 HEARN, Q.C.: 23 Q. Okay.
24 Q. Yes, adopting Mr. Drazen’s evidence. 24 MR. FITZGERALD:
25 CHAIRMAN: 25 Q. Mr. Chair, we may or may not have questions.
Page 87 Page 88
1 CHAIRMAN: 1 CHAIRMAN:
2 Q.Okay. | think we'll--you wouldn’'t belong, 2 Q. Good morning, Mr. Drazen, and welcome back,
3 Mr. Kennedy, would you? 3 Sir.
4 MR. KENNEDY: 4  A. Good morning. Thank you.
5 Q. No, Chair. 5 MR. MARK DRAZEN, SWORN
6 CHAIRMAN: 6 CHAIRMAN:
7 Q. Well take a 15-minute break actually. 7 Q. Thank you very much. When you're ready, Mr.
8 (BREAK - 10:48 AM. ) 8 Hearn.
9 (RESUME - 11:10AM ) 9 HEARN, Q.C:
10 CHAIRMAN: 10 Q. Mr. Drazen, you have pre-filed evidence before
11 Q. Thank you. Any items, Ms. Newman, beforewe 11 this Board dated October 3rd, 2003. Do you
12 begin? 12 adopt that as your evidenceto be presented
13 MS.NEWMAN: 13 before this Board?
14 Q. No. 14  A.Yes, | do.
15 CHAIRMAN: 15 Q.lIs it your view that rates ought to be
16 Q. No. Thank you. Mr. Hearn, would you, this 16 equalized between Labrador East and Labrador
17 time around, liketo introduce your witness, 17 West?
18 please. 18 A.Do youwant the short answer or the long
19 HEARN, Q.C. 19 answer?
20 Q. Certainly, Mr. Chairman, thank you very much. 20 Q. Well, whatever answer you regard as thorough.
21 We have Mr. Drazen here to present his 21 A. Well, the short answer isno. The longer
22 evidenceto the Board. Mr. Drazen hasbeen 22 answer is that inthe evidencel show that
23 before thisBoard in this past, so | think he 23 thereis amaterial differenceinthe cost
24 needs no introduction. | wonder if someone 24 between serving Labrador East and Labrador
25 take the timeto affirm. 25 West. The difference, it shows 8.9 million
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1 MR. DRAZEN: 1 entirely true. But what's the benefit of it
2 for Labrador East for a load of 218,000 2 here? And that’sthe issue.
3 megawatt hours or for sales of 218,000. For 3 So | can explain the differences between
4 Labrador West, it’s 3.6 million for ahigher 4 the cost of service, but it really boils down,
5 level of sales of 260,000, so that the cost 5 in the end, to the fact that since thereisa
6 per megawatt hour is$41.00 in the east and 6 difference, you €either ignore it or you accept
7 $14.00 in the west, roughly three to one, and 7 it. Andinthe past, heretofore it's been
8 my understanding from listening to Mr. 8 accepted, and now the proposal isto ignore it
9 Greneman is that Hydro doesn’t have any 9 and phaseit out over five years. Sothat's
10 quarrel with the calculations per se. 10 the longer answer. | could amplify on that a
11 The higher level issue isredly that 11 little bit more, if you like.
12 Hydro has placed before the Board a policy 12 HEARN, QC::
13 proposal, and the policy proposal isthat the 13 Q. No, | think that that'sfine. | think that
14 cost difference between the east and the west 14 there be some questions from, certainly from
15 should be ignored and the historica 15 Newfoundland Hydro and maybe some others. So,
16 difference between the two should be ignored, 16 those are my questions, Mr. Chair.
17 and that the east and west should be forced to 17 CHAIRMAN:
18 have the samerate. When you raise apolicy 18 Q. Thank you, Mr. Hearn. Once again, Ms. Greene
19 proposal like that, put it forth, there really 19 are you undertaking the cross?
20 are two more basic questions. Number oneis 20 GREENE, Q.C.:
21 why, and what’sthe purpose of the policy. 21 Q. Yes. Thank you, Mr. Chair. Good morning, Mr.
22 Who's going to benefit from this particular 22 Drazen.
23 policy? So it's easy tosay well other 23 A. Good morning.
24 provinces have postage stamp rates, which in 24 Q. Asyou stated in your pre-filed evidence, and
25 some casesistrue. In some cases, it’s not 25 again, just there this morning, your only
Page 91 Page 92
1 reason for saying that Labrador East and 1 number two, should have a reasonable basis.
2 Labrador West should not be used or considered 2 Hydro didn't present--you say Hydro didn’t
3 asasingle system for rate setting purposes 3 look for any cost differences, so it didn't
4 isthe fact that there are material costs 4 have the technical information to say how much
5 differences between the two and the fact that 5 are wegoing to shift ontothe Lab West
6 because of different ownershipin the area, 6 customers over and above cost and asfar as |
7 they were offered separately for a number of 7 could tell, has not presented any benefits of
8 years? Isthat acorrect summary of your 8 such an equalization.
9 position? 9 . | wanted to talk to you about your view that
10 (11:15am.) 10 the fact that there was a material difference
11 A.| sad thereis materia cost difference 11 in cost, and | wanted first to look at your
12 between the two and historically, they’ ve been 12 response to NLH-233.
13 separate. So what I’m suggesting is not that 13 . Um-hm.
14 we take a currently combined system and 14 .You point out the differences in your
15 separate them into two parts. I’m saying the 15 evidence, that there are differences between
16 parts are separate right now, they have been 16 Labrador East and Labrador West and as we
17 for many years, and that there's no good 17 stated earlier today, Hydro accepts the
18 reason to combine them, given that the costs 18 principlethat there are differences in the
19 are so much different. 19 cost of supplying both areas. We asked you,
20 . And you also stated thisis basically a policy 20 in the request for information, what, in your
21 decision for this Board? |sthat correct? 21 view, makes acost material enough that it
22 . It salways apolicy issue of the Board to 22 should be considered as one of the--the reason
23 recognize or ignore cost information, but 23 not to combine your -
24 policy decisions should be, | think, number 24 A.I'm sorry, the question was?
25 one, informed by the technical information and 25 Q. What, in your view, makes something material ?
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1 GREENE, Q.C.: 1 A.Wadl, I’'mguessing it’s 240.
2 Isthere aguidelineor aruleof thumb or 2 GREENE, Q.C.:
3 something that you can offer to the Board as 3 Q. No,itwouldn't be.
4 to why these differences in cost are material 4 A Let'skeepgoing. Pardon me, sir, if | can -
5 enough that it should influence the Board? 5 Q. Whatis ityou're looking for, Mr. Drazen?
6 A.lsay athreetoonedifferenceinthe cost is 6 Perhaps | can help you.
7 certainly material. If we could go forward to 7  A.It'sthe onethat shows the cost differences
8 - 8 amongst the general service classes.
9 Q. Sotheanswer when we asked you the question 9 HEARN, Q.C.:
10 was that you didn’t--you weren’t offering to 10 Q. Perhapsif | provide Mr. Drazen with my copies
11 the Board any guideline or you, yourself, had 11 of the -
12 no preset determination as to what would 12 A. Thank you.
13 constitute a material difference? 13 CHAIRMAN:
14 A. That'strue, but what | meant there, you can’'t 14 Q. It doesn't refer to any specific number, does
15 say if i’ sa--probably if it's a one percent 15 it?
16 difference, it's not worth worrying about. If 16 HEARN, Q.C.:
17 it'sfive percent, it's not worth worrying 17 Q. Hecanthen refer to the number and perhaps we
18 about. When it comesto the area of let’s say 18 can bring it up, Mr. Chairman, once -
19 15 to 20 percent differences in cost, people 19 MR. KENNEDY:
20 do start to worry about that and in one of the 20 Q.| believeit might be 245 and 246.
21 later responses, the number of which escapes 21 CHAIRMAN:
22 me at the moment, but it’s maybe 240 or so, 22 Q. Would that beit?
23 maybe Mr. Hearn, could you help - 23 GREENE, Q.C.:
24 HEARN, Q.C.: 24 Q. No, that's not with respect to the genera
25 Q.| wonder, Mr. O Reilly, if you'd bring up 240. 25 service customers. | actually don’t think
Page 95 Page 96
1 there's an RFI there on that. 1 to what justifies establishing different rate
2 HEARN, Q.C.: 2 classes.
3 Q. Yes, there may not be. 3 Q. No, I'masking you--you're saying that three
4 A.It's234. Andjust scroll down alittle bit 4 to oneiswhat you believe is sufficient that
5 more, thank you. Mr. Greneman observed, and | 5 the Board should look at. |sthat correct?
6 agree, the reason you do aCost of Service 6 A.l sayit'smore than sufficient.
7 Study isto differentiate amongst the cost of 7 Q.| wanted now, if we could bring up the math to
8 serving the different classes and what it says 8 Mr. Martin’s pre-filed evidence, Mr. O’ Reilly.
9 is that you've got three different rate 9 Mr. Drazen, I'd like--no, I'd like to see the
10 classes in Labrador West. You've got a 10 Island system first, Mr. O’ Reilly.
11 difference between the Island Industrial and 11  A.Fine.
12 Newfoundland Power. Those differencesarein 12 Q.| wastaking to Mr. O’ Reilly, to bring up the
13 the order of 25 percent. So if a25 percent 13 full map of theisland there on the screen so
14 differential is big enough to justify a 14 you could have alook at it. That showsthe
15 separate rate for different general service 15 isand portion of the province, and it
16 customersand as between Newfoundland Power |16 outlines the Newfoundland Hydro system on the
17 and the Island Industrials, | would say a 17 isand. Would you agree that first St.
18 threeto oneratio is certainly big enough to 18 John's, over here on the east coast, isthe
19 justify differential between Lab East and Lab 19 most highly populated area of the province?
20 West. 20 A.Yes.
21 GREENE, Q.C. 21 Q.Would you agree, at ageneral policy level,
22 Q. Andthis would be your personal view asto 22 that it would be cheaper to supply a customer-
23 what would be sufficiently material to justify 23 -and | think yesterday Mr. Kennedy used the
24 different areas? 24 example of anadditional apartment in an
25  A.Apparently, it's Newfoundland Hydro'sview as |25 aready existing building and I'll use the
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1 GREENE, Q.C.: 1 could well be different?

2 examplethat it's easier--not easier, but it 2 A.The transmission would aso bemuch of a

3 would be less costly to supply a customer in 3 common cost, inthe sensethat to serve a

4 an existing subdivision here in St. John’'s 4 customer off an Interconnected system, you

5 versus supplying arural customer, if you're 5 can't assume that the customer gets the power

6 going todo a comparison of the cost of 6 from the closest generation plant, because

7 supplying that one additional customer in the 7 from time to time generation plants go out of

8 urban area versusoneout ina very remote 8 service and usually back up from other

9 rural area of the province? 9 generation plants.  That's why an
10 A. Yes, that could well be the case. 10 interconnected system isassumed to be a
11 Q. That'swhat you would normally expect to see, 11 common source of supply for all the customers
12 wouldn’t you, in these types of situations, if 12 attached to that.

13 we actually broke down cost of serviceto the 13 Q. That'swhy, becausewe averagethose costs

14 cost of serving an individual customer? 14 over all of the customers regardless of where

15 A.Yes 15 they livein relationship to the distanceto

16 Q. Now what about if we looked at different areas 16 the generation source. Isthat right?

17 of the province that are all served from the 17 A.What | suggested is that the reason you treat

18 Interconnected grid. Again, if wedid do 18 the generation as a single system, as opposed

19 individual cost of service for supplying one 19 to differentiating by distance, isthat a

20 area versus another area, would you expect to 20 customer who is located, let's say, two

21 see differences in cost between the two areas? 21 kilometres away from a generation plant could

22 A.If you're talking about Interconnected system, 22 argue, "I’'m getting all my power from that

23 where it's truly interconnected, the 23 generation plant. | shouldn’'t pay for much

24 generation supply would be a common cost. 24 transmission” and then the response to that is

25 Q. But thetransmission and the distribution 25 "okay, when the generation plant goes out of
Page 99 Page 100

1 service, what do you do?' The answer is, " 1 which is over there on the left-hand side,

2 get my power from a more distant plant” 2 down in the corner, would you expect the cost

3 because al the generation plants are operated 3 to serve the small number of customersin Port

4 as acommon resource to serve al the loads. 4 aux Basques to be the same asthe cost to

5 So you can't take this closest plant and say 5 serve the customers say in Grand Falls?

6 that’sall thetransmission you need. You 6 A.Wdl, | don't know without looking the cost.

7 actually need more if you're goingto get 7 | wouldn’t assume that they would be the same

8 reliable service. If the circumstances are 8 or different.

9 such that that customer would be willing to be 9 Q. But would you agree that generally, if you did
10 interrupted whenever that plant goes out of 10 manage to do separate cost of service by area
11 service, then you could justify adifferent 11 that you would expect to see differencesin
12 treatment, and that’swhat is donein certain 12 cost?

13 jurisdictions. So on most systems, what you 13 A.If you took the existing system and started to
14 find isthat the generation and transmission 14 differentiate the areas, yes, you might find

15 isin fact interconnected and that is a cost 15 that.

16 that’s much larger than the distribution 16 Q. So you wouldn’t be surprised that there would
17 costs, so that the differences in the 17 be significant differences between the cost of
18 distribution cost are not as material relative 18 supplying different areas, if we actually went
19 to each other. 19 back and broke them out, separate Cost of
20 Q.Atapoalicy leve - 20 Service Study for a separate area?

21  A.Relativeto different aress. 21 A.lwouldn’t be surprised to find there are

22 Q.I'msorry. 22 differences. 1'd be surprised if there were

23 A.I'msorry. I'm finished. 23 three to one differences.

24 Q.Okay. Atapolicy level, if weactualy did 24 Q. But you don’'t know that, do you? Because that
25 do cost of service, say for Port aux Basques, 25 isn't done.
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1 MR. DRAZEN: 1 the fuel for generation would probably be much
2 A.No, until youdoit, you don’'t know. That's 2 the same.
3 right. 3 Q. Butif youlooked at each one, perhaps you--
4 GREENE, Q.C.: 4 again, you weren't here yesterday, but if we
5 Q. Now you mentioned in your--and actually, I'd 5 could look at ca-8which showsthe cost for
6 like to go to the Isolated systems and there’s 6 the Isolated System, page 3 of 3 of ca-8. It
7 aready been some discussion here about that. 7 sets out theindividual isolated systems and
8 You are awarethat itis apolicy here in 8 what the costs are on the short-run marginal
9 Newfoundland that all of the isolated systems 9 basis, and you can see there are significant
10 are blended together to come up with the rates 10 differences, depending on the community? Is
11 from the costs associated with supplying the 11 that correct?
12 Isolated System? Areyou familiar with that 12 A. Sorry, these are the marginal costs?
13 policy? 13 Q. Yes, just asan example.
14 A.Pardon? Am | aware of? 14 A.Well, yes, thereare differences, with a
15 Q. Areyou familiar withthe policy that the 15 couple of exceptions. The costs are -
16 Isolated Systemsin Newfoundland are treated 16 Q.| wasjust wondering for -
17 as one system for the purpose of determining 17 A.-13to--let’ssay for 2004, 13 to 14 cents,
18 rates? 18 plus or minus a couple of pennies.
19 A.Yes 19 Q. But then if you go down to Paradise River, for
20 Q.Would you agree that the cost of the 20 example, you seeit as .25, soyou can see
21 individual systems would be significantly 21 there's significant differences within the
22 different if each area was looked at 22 |solated areas, is that correct?
23 individually? 23 A.Yes, | don't know how these were calculated,
24  A.Thecost of thelocal portion of the system 24 SO -
25 would be different. The cogt, let’s say, of 25 Q.Butagain,if youdid do aseparate Cost of
Page 103 Page 104
1 Service Study for each area, you would expect 1 ratesin different parts of the Province based
2 to see differences between the cost of 2 on the cost of serving that area?
3 supplying each of the areas, isthat correct? 3 A .I'mnotthat familiar with the history, but
4 A.Yes, accepting these figures at face value. 4 I'll accept that.
5 Q.So the fact that there are material 5 Q. Sothat if wehad taken your position that
6 differenceswas one of your reasonswhy it 6 because historically it had been done that way
7 should be kept separate and apart between 7 and should be carried forward, we wouldn’t be
8 Labrador East and West, and | think you 8 in the situation today where there would be
9 mentioned another--the second reason was the 9 the same rates charged on the Idand
10 fact that historically they have been treated 10 Interconnected System, would we? If history
11 separately, isthat correct? 11 isto play the predominant role?
12 A. That'scorrect. 12 (11:30 am.)
13 Q. Now, if one wereto accept your position, 13 A.lt'snotjust thehistory, it’s the history
14 would that mean that there would never have 14 plusthe cost. As you take separate systems
15 been the development of the rates on an 15 and combine them and interconnect them, you do
16 average basis and cost of service for acommon 16 have a larger and larger portion of common
17 area? If you look back in history, let’slook 17 costs, common in the sensethat they are
18 at what happened in Newfoundland. At one 18 shared by all the systems and when the
19 time, prior to Newfoundland Power becoming the |19 generation and the transmission costs become
20 primary distribution utility, therewere a 20 common and larger than the distribution costs,
21 number of different utilities serving 21 those cost differentialsthat existed before
22 different partsof the Province, were you 22 are narrowed. The difference here isthat the
23 aware of that? 23 cost differential between the east and the
24 A.Yes 24 west, in Labrador, is--doesn’t change because
25 Q.Wereyou awarethat they charged different 25 the--unless you start to install standby
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1 MR. DRAZEN: 1 enough and the costs were similar enough that
2 capacity in Lab West, you've got that asthe 2 consolidating those two made sense, but they
3 major difference between thetwo, that’san 3 were alot closer than you have today between
4 enduring difference. 4 Lab West and Lab West.
5 GREENE, Q.C.: 5 . 1 don’'t think you were here yesterday when Ms.
6 Q. Andl guesswe'regoing to come to what some 6 Tabone testified, but Mr. Greneman made
7 of the differences are, but at the policy 7 similar comments this morning when you were
8 level, if history were the primary driving 8 here that this, the process of averaging and
9 factor for these types of policy decisions, we 9 coming up with what Mr. Bowman referred to as
10 would be left, not only in Newfoundland but 10 "postage stamp" rates is very common in
11 elsawhere with separate rates, amost per 11 setting rates, whether in Canada or the United
12 community, isn't that correct? 12 States, isthat correct? Thetrendisto try
13 A.If history were the only factor. 13 to average wherever possible across the
14 Q. Andinfactat onetime, itwasonly inthe 14 system?
15 2002 Genera Rate Application that there was 15 . It'scommon but you have very few systems that
16 rates in Wabush and Labrador City were 16 look like Newfoundland Labrador Hydro.
17 combined, prior to that, the rates for Wabush 17 . | just want to spend a moment looking at the
18 and Labrador City were separate and different 18 first--the type of system that’sthere in
19 rates, is that correct? 19 Labrador. First with respect to generation,
20 A. That'scorrect. 20 would you agree that the source of firm power
21 Q. Butyoudon't object to combining Wabush and 21 available in Labrador West and Labrador West
22 Labrador City, isthat correct, even though 22 is the same?
23 historically they may have been separate? 23 . Churchill Falls isthe source of power for
24  A.Atthetime | said, athough the rates were 24 both Lab East and Lab West, but because you
25 somewhat different, the systems were similar 25 have outages on the transmission lineto Lab
Page 107 Page 108
1 East, in order to provide firm power, you need 1 Q. Youmay not havebeen herefor some of the
2 the standby generationin Lab East, so the 2 discussion with respect to whether the
3 source of firm power in Lab East is Churchill 3 generation here was local--on the GNP and on
4 Falls, plus the standby generation, diesel and 4 the Burin was localized or not, but there has
5 turbine; whereas to Lab West, it's just 5 been a series of questions about that. Would
6 Churchill Falls. 6 you agree that if there were a problem with
7 Q. Allright, let’s step back a step then, where 7 the power supply in Churchill Fallsthat the
8 does Hydro get the power that it suppliesto 8 standby diesel generation could berun in
9 Labrador East and Labrador West as the primary 9 Goose Bay to free up the needs to supply power
10 source of supply to supply theload in both 10 to Labrador East, which would then make more
11 east and west, if it's from the power that 11 power available to Labrador West, even with no
12 Hydro buys from cr(L)co for therecall, is 12 impact on the mine?
13 that correct? 13 . No, thereason is two-fold.
14 A. That'scorrect. 14 . Technically first, Mr. Drazen, technically if
15 Q. Now, you mentioned standby generation in Goose 15 the standby diesel generation was run in Goose
16 Bay, isit normal for autility to have 16 Bay to supply theload in Goose Bay, would
17 standby generation in certain areas of its-- 17 that free up the need in Churchill Fallsto
18 areas of supply? For example, are you aware 18 supply power to Labrador East?
19 that Newfoundland Hydro has standby generation 19 .1 guess you could say technically you're
20 on the GNP and there’s additional standby 20 proposing that Churchill Falls experience
21 generation down on the Burin Peninsula? 21 something like--and Churchill Fallsis 5428
22 A.lt'snormal for autility to have standby 22 megawatts.
23 generation, where Hydro differsfrom other 23 Q. Would you agree first that from atechnical
24 utilitiesis the extent to which the standby 24 engineering perspective or an operating
25 generation might be localized. 25 perspective that that is possible? The
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1 GREENE, Q.C.:

© 00 N O o~ WODN

standby-diesel generation being run in Goose
Bay would lighten the load required out of
Churchill for Labrador West?

. No, because in order for you to be in that

situation, the generation out of Churchill
Falls would have to be less than, since we got
the numbers, you have--you've got 11
generators at Churchill Falls, something like
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Q. It's not possible because the source of power
isgreater in Churchill Falls, not because of
the standby diesel generation would not be of
benefit? 1'm just saying there may not need
to be a benefit.

A. The reason you have the standby generation in
Labrador East has nothing to do with Churchill
Fals, it's because of thetransmission line
being down.

10 that, so 500 megawatts each. Aslong asone 10 Q. And | guess, are you familiar with the
11 generator is running, you' ve got 500 megawatts 11 situation on the GNP here on the Island?
12 of power which is more than enough to serve 12 A.No, | read about--1 read some of the evidence
13 both Lab East and Lab West, so what you'd have |13 onit, but I'm not that familiar with it.
14 to be proposing in order for that to be even 14 Q. So theprimary difference with respect to
15 technically conceivableisthat you be downto 15 generation is that there is standby generation
16 a fraction of one generator operating at 16 that’'s available in Goose Bay that’s not
17 Churchill Falls, which doesn’'t make any sense. 17 available in Labrador West, and you say that
18 Q. Soyour answer is that it may not need to 18 is avery significant difference, in your
19 occur because of the size of the source of 19 view?
20 power, you’'re not saying that it would not 20 A.ldidn'tsay it'savailable in Labrador East
21 occur, that from practical--not practical, but 21 and not availablein Labrador West, | said
22 from an operation’ s perspective that that is a 22 it's needed in Labrador East and not relevant
23 possibility if that were to occur? 23 to Labrador West.
24 . I’'m saying from an operating perspectiveit’'s 24 Q.| accept that. Were you here this morning
25 not possible. 25 with respect to Mr. Greneman’s position that
Page 111 Page 112
1 the second lineto Labrador West in effect 1 Industrial load so that if thereis an outage,
2 operates inthe same areaof the standby 2 the Industrial load gets dropped first to
3 diesel generation in Labrador East? 3 supply the towns?
4 . Yes, | think that was one of many reasons why 4 A Thelndustria load will take the shortfall.
5 he said my cost study was not relevant; 5 Q. Soif there was asituation and there was not
6 however, Mr. Greneman is factually incorrect 6 enough power availableto supply everybody,
7 on that respect. You can't take one line out 7 the fact that it can be supplied over oneline
8 of service--one of thetwo linesgoing to 8 to atown is of benefit, isn'tit?
9 Labrador West out of serviceand say we'll 9 A.Isof benefit to the residents of the towns,
10 serve the load from the other line. The lines 10 except that meansthat their livelihood has
11 going to Lab West are, at times, fully loaded 11 been diminished.
12 inthewinter. If youtaketheload of Lab 12 Q. For theperiod of the outage which would
13 City and Wabush which is about 60 megawatts, 13 happen in many situations.
14 of 1occ which is 200 megawatts, plus or minus 14 A. For the period of the outage and what that
15 something, depending on summer and winter and |15 meansisthat iocc and Wab Mines are bearing
16 Wabush Mines. Sohe's saying that you can 16 the cost of providing that standby. It’s not
17 take one lineon the serviceand servethe 17 acost to Hydro; whereas Hydro isincurring a
18 load with the other line and therefore, you're 18 significant cost to provide asimilar service
19 getting functionally the same thing asyou're 19 to the customers in Happy Valley/Goose Bay.
20 getting with the single line for its 20 Q.And!| guessthat’syour point as well with
21 generation in Lab East is not correct. 21 respect to the wheeling arrangement to
22 Q.Are you aware that in the contractual 22 Labrador West. In your view, it is
23 arrangements between the mining companiesthat |23 significant is it, who owns the line as
24 priority has been given to supply the 24 opposed tothe fact of the service being
25 customers of Newfoundland Hydro over the 25 provided -
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1 MR. DRAZEN: 1 you regulate based on cost of service, which
2 A.The difference in the ownership means a 2 is the way tilities are regulated, the
3 significant difference in the cost. 3 ownership does make a difference in the cost
4 GREENE, Q.C.: 4 and therefore, makesa difference in the
5 Q. Butdid you hear Mr. Greneman’s position that 5 rates. Here you have adifference as between
6 that’s no different than if the line had been 6 how the west and the east are served.
7 fully depreciated? 7 . But isit theimportant thing of who owns it
8 A.That'swhat hesaid, | don’t think | agree. 8 or isthe important thing what is the value or
9 Q. Soinyour view, whoever ownstheline, that’s 9 the cost of whether it's atransmission line
10 the most important factor? 10 or aterminal station? If you have aright to
11 A. That'sno different than saying whoever owns 11 useit, isn't the issue the value that’ s paid
12 the facilities in general makes a difference. 12 for it as the merelegal ownership--1 don’t
13 Why aretheratesin Labrador different than 13 understand why theissue of ownership is
14 the rates across the boarder in Quebec? 14 relevant in the cost of service, as opposed to
15 Different ownership. They say, well, of 15 the actual cost incurred of the asset.
16 course, different utilities have different 16 . What you' re suggesting isthat we should set
17 costs and therefore the rate should be 17 the rates based on the value of the service,
18 different, but - 18 at least as a consideration, not just on the
19 Q. Butif you'relooking at the one utility and 19 cost of service, isthat -
20 in this particular case, Newfoundland Hydro - 20 . No, I’'m not suggesting that, I’ m suggesting -
21 A.Canl finish? 21 . Well when yourefer value, what are you
22 Q. Sorry, yes, go ahead. | think you're getting 22 talking about?
23 into another province where they even have 23 . Well in this particular case you would agree
24 constitutional issues around this one. 24 that because thereisno wheeling fee, there
25  A. Political issuestoo. The point isthat when 25 is nocost in the cost of service being
Page 115 Page 116
1 proposed to cover that, that thefact that 1 been recognized by Hydro in the cost of
2 it's done at no cost has already been 2 service?
3 recognized. | don't understand what the 3 .Yes.
4 significance of ownership thenis? 4 . And the benefit is flowing to the customers.
5 A. Thesignificance of ownership, in thiscase, 5 . Right, as happenswith any contribution by
6 isthat it affects the cost of service to 6 customers.
7 Hydro. 7 . If we were to leave Labrador East and Labrador
8 Q. Becausethere' sno value and if that value of- 8 West as separate areas, if there were future
9 - the fact that it’s done at no cost has been 9 additional capital cost required, who, in your
10 recognized in the cost of service, is that 10 view, should pay those costs?
11 correct? 11 . Those costs should be assigned to the east or
12 A.By "value' do you mean thevalue to the 12 the west as they are incurred, consistent with
13 customers or the accounting value? 13 the cost of service principle.
14 Q. Insetting therates to be charged on the 14 .I’d like to look at the EES report here for a
15 Labrador Interconnected System, Hydro has not 15 moment, Mr. O’'Reilly. The EES report, page
16 included a cost associated with wheeling the 16 17. Atthetop of that page, beginningon
17 energy from Churchill Fallsto Labrador West, 17 line 2, they say, "If rates are set on acity-
18 isthat correct? 18 by-city basis, large capital expenditures
19 A. That'sright. 19 required to maintain the system are likely to
20 Q. Similarly with respect to the contributions 20 hit hard in small communities and cause
21 that have been received from the mining 21 significant rate volatility. And with a
22 companies, either on the renovation and 22 Single Interconnected System, al customers
23 upgrading costs that were incurred when the 23 benefit from the ability to smooth capital
24 systems were taken over, or the actua 24 expenditures across different areas over
25 original construction, has that contribution 25 time." Do you agree with that statement?
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1 MR. DRAZEN: 1 suggest that you do not have here. You don't
2 A lt'sagenera statement. | don't seethat 2 have a common transmission system between Lab
3 that’s areason--that apotential cost isa 3 East and Lab West because of the configuration
4 reason to ignore the real cost difference that 4 of the system. Now, Mr. Greneman, this
5 exists at thistime. 5 morning, was asked by Mr. Hearn, he said,
6 GREENE, Q.C.: 6 well, how isacustomer in Happy Valley or
7 Q. And you do see that if there's capita 7 customersin Happy Valley similar to thosein
8 required in the future requiring rates to go 8 Lab West, but different than thosein St.
9 up in Labrador West, that that should be borne 9 John’s? And he said, well there's a
10 solely by Labrador West? 10 differencein latitude between St. John’'s and
11 A. Yes, it would be and then your costs would be 11 Happy Valley and so thereis. There'salsoa
12 averaged with the existing costs. 12 differencein longitude between Happy Valley
13 (1L:45am.) 13 and Lab West and that has climatic effects as
14 Q. How do you reconcile your position with the 14 well. So, if you'retalking about whether
15 evidence of Mr. Bowman and Mr. Greneman that 15 customers are the same or different, you'd
16 the trend is where possible to average costs 16 havetolook at thefactorsthat would make
17 over acommon system? 17 them the same or differentin this respect.
18  A. Average cost over - 18 So, | would say that | don't agree that you
19 Q. Where you have common cost over a system where 19 have similar customers served off of acommon
20 the customers are similar and the facilities 20 system. If you did, then | would agree with
21 are interconnected, that you--would you 21 them that your principle of averaging the
22 combine them for rate saving purposes? 22 costs would be more appropriate.
23 A.Looking for common ground, I'dsay | could 23 Q.One smal point, you just mentioned the
24 agree with them or do agree with them, but--if 24 transmission system, the lines are at
25 you have that degree of commonality which | 25 different voltages, are they connected at the
Page 119 Page 120
1 230 kV busand the cr(L)co switchyard in 1 not a relevant factor in the cost to
2 Churchill Falls? 2 allocation.
3 A. Wasconnected to the 230 kV bus, they’re not 3 Here, asimilar sort of thing. The fact
4 connected at that point. 4 that the 230 lines going west are connected to
5 Q. Andthat would be similar to where you have 5 the 230 kV bus at cF(L)co and the 138 lineis
6 other lines beginning to connect at different 6 connected to that same bus, doesn’t mean that
7 voltages at different terminal stations on the 7 the Twinco lines and the Hydro lines are
8 Island Interconnected System, isthat correct? 8 themselves, interconnected.
9 A.No, | don't think so. 9 . No, but it’s the same asin another terminal
10 Q. lt'snot- 10 station where you have one line of one voltage
11 A. No, to say that they’re connected--1 pointed 11 and another line you have atransformer there
12 outin, I think it was one of the responses, 12 that has to actually transforming the 138 up
13 you have low voltage lines connected to high 13 t0 230 or 230 downto 138, isn't that--it
14 voltage lines, power flows from the 14 would be done, fully transformed, but their
15 transmission system to the distribution 15 both interconnected at the terminal station.
16 system. To say that because lines are 16 In CF(L)CO’s case, it happens to be at the
17 interconnected, the costs should be averaged, 17 switch yard in Churchill Falls.
18 would be like saying that the customers served 18  A.Okay, I'm sorry.
19 off the high voltage system should be 19 Q. You'resaying that the differenceisyou don’t
20 alocated cost of the low voltage system 20 have power normally flowing between east and
21 because the lines are interconnected. Well, 21 west, but you' re not saying that there cannot
22 thefact is, inthat case, they are actually 22 electrically be power flow between east and
23 interconnected, but you don'’t--because of the 23 west, | assume.
24 direction of the flow, you say that 24  A.lsaid not--you said you don't have power
25 interconnection is not amaterial factor or 25 normally flowing between east and west.
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1 GREENE, Q.C.: 1 a purpose of interconnected system.
2 Q. That'swhat--yes. 2 Q. Because power doesnot flow over electrons
3 A ldidn't say that; you said that. 3 because of the transformation only east or
4 Q. Allright. 4 they go west. Inyour view, they don't--
5 A.Whatl said isyou don't have power flowing 5 there' s not, flowing back and forth across the
6 between east and west period. It'snot a 6 line?
7 question of normally; it's aquestion of ever. 7 A Right.
8 Q. Butit can be done? 8 Q.| was only dealing with the physica
9 A.ltcouldbedoneonly in circumstances where 9 interconnection there, that's all. So, |
10 the system would--where Churchill Fallswould 10 agree that normally the power flows to
11 betotally down. And even in that case, you 11 Labrador East and normally flowsto Labrador
12 couldn’t have power flowing from east to west 12 West and there is atransformation required at
13 unless you shut down Happy Valley because 13 the 230 kV switch yard in Churchill. So, you
14 there' s not enough standby capacity in Happy 14 would agree basicaly, this is a policy
15 Valley to satisfy the load there. 15 decision for the Board to make as to whether
16 Q. No, that'scorrect. And | guess, I'm just-- 16 this should be one system to Labrador or, |
17 you would agree that they’'re physically 17 guess, if it'shistorically, it had been a
18 interconnected. Your distinction is the fact 18 system--we may have continued with three
19 as towhether power flows one way or the 19 different areas, rates for three different
20 other. We've had asimilar discussion with 20 areasin Labrador. You -
21 respect to the GNP transmission lines as well. 21 A. Which question do you want me to answer?
22 A.I'dsay they’re connected only in a-okay, 22 Q. Youwould agreethat thisis a policy decision
23 they’re physically interconnected in the sense 23 for the Board as to whether there istwo areas
24 that you could move along the metal from one 24 in Labrador, threeareas or one area in
25 to the other. Electrically, they do not serve 25 Labrador served on the Labrador Interconnected
Page 123 Page 124
1 System. 1 history. Those are thetwo reasons you're
2 A Yes | dready saidthis wasultimately a 2 advancing to the Board to support two areasin
3 policy issue, but that policy should be formed 3 Labrador east and Labrador West, is that
4 by what the cost data are and question of what 4 correct?
5 the policy achieves. | mean, if you want to 5 A. That'swhat |'ve said.
6 take in another setting, it'sa policy issue-- 6 Q. Thank you. That concludes the cross-
7 the Board, just say, what return should Hydro 7 examination.
8 get? What's the capital structure? What's 8 CHAIRMAN:
9 the deemed--what coverage ratio or what return 9 Q. Thank you, Ms. Greene. Good morning, Mr.
10 on equity should it get? Or | can say, well, 10 Fitzgerald, any questions.
11 we think three percent return on equity from a 11 MR. FITZGERALD:
12 policy standpoint is appropriate. The Utility 12 Q. Good morning, Mr. Chairman. Just a couple of
13 might say, well, if youlook at markets, 13 brief questions. Good morning, Mr. Drazen.
14 that’s not a real good policy issue; that's 14 A. Good morning.
15 not agood policy decision. So, when you say 15 Q. Just picking up onthelast question or the
16 something isapolicy issue, we aso haveto 16 last point that Ms. Greene put to you that the
17 say, from asocial perspective or regulatory 17 two factors that you considered
18 perspective or an economic perspective, what's 18 differentiating Labrador West are the cost and
19 agood policy and what’ s not a good policy. 19 the historic, sort of, background to that
20 Q.lagree and | won't getinto therate of 20 system. The historic separation or the
21 return with you, Mr. Drazen. Andthe two 21 historic aspect of the Labrador West system,
22 factors you believe that you' re saying to the 22 isthat related to the ownership of the system
23 Board, that they should take into account is 23 as one of the criteriawhy you think that it
24 the fact that there are material differences 24 should be a non-interconnected system?
25 incost between the areasand thefact of 25  A. Ask methat in reverse, whether--when you say
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1 MR. DRAZEN:

© 00 N O o~ WODN

non-interconnected system, that’s a matter of
the physics, if you will, or the topology of
the system. Asto why they were different,
the historical aspect, | mean, you got the
fact that these were--the systems were
originally owned by the minesand, | guess,
the peoplewho liveinthat areaare, to an
extent, tied to the fate of the mines.
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believe it's an interconnected system is
because the costsare so different, west
versus east and also because of the history?

A. No, sir, the fact that it's not an

interconnected system has to do with what |
call the topology of the system. It'sthe
flow of the power on the facilities.

Q. Is ownership a relevant issue in your

determination as to whether a system is

10 MR. FITZGERALD: 10 interconnected or not?
11 Q. Okay, just, I'll rephrase the question, just 11 .Not necessarily. You had--the systems,
12 looking at your evidence at page four, lines 12 Albertawas one, as example, the us Northeast
13 23and 24. I'mnot sureif I’'m looking at 13 was another, and the state of New York was
14 the--isthis the revised? Perhapsif you 14 another where it wascalled atight power
15 could just scroll up, Mr. O Reilly, okay, 15 pool, whereall of thegeneration plants,
16 sorry, lines14 and 15. "The separation 16 which were owned by different owners, were
17 transmission lines are both fed off the 230 kV 17 operated asa single fleet to meet the load
18 bus at Churchill Falls'. Could you describe 18 and they wereall connectedin oneway or
19 briefly for the record what abusis. 19 another by transmission lines, again by
20 A.A bigwire. 20 different owners. In Alberta, infact, they
21 Q. A bigwire, soit’'saphysical connection. 21 took all the costs and averaged them so you
22 A Yes. 22 had what was called the Alberta I nterconnected
23 Q. But that does not make them an "interconnected 23 Electric System, which was the interconnected
24 system"? And | understood, perhaps 24 system with different ownersand in fact you
25 incorrectly that the reason why you don't 25 had cost averaging, which was overlay on that
Page 127 Page 128
1 physical interconnection. So the ownership 1 West into the integrated system?
2 does not determine whether it's 2 . The operational control doesn't make it--
3 interconnected. 3 wouldn’t make it interconnected, whoever has
4 Q.Okay. Doesthe operational control of the 4 it.
5 system determine whether it’s interconnected 5 . Did you analyze the additional administration
6 or not? 6 costs of conducting additional Cost of Service
7 A.Yes, you'regetting into another refinement, 7 studies and administering separate rates?
8 and thiswas in one of the responses to one of 8 . From the perspective of customersin Lab West,
9 the questions | got from Hydro. Wastherea 9 I would say that they’ d be probably more than
10 difference between interconnected and 10 happy to pay for any extracosts if that's
11 integrated? And in fact, you can have systems 11 what it took to maintain the rate
12 that are interconnected, in the sense that 12 differential, based on the other costs. The
13 power flows back and forth between them, and 13 answer isthe additional cost is minimal, and
14 then you can take that to a higher level which 14 by minimal, | would say it's maybea few
15 iswhat | was describing with integrated, that 15 thousand dollars. Once you’'ve got your Cost
16 an integrated systemis operated as one, 16 of Serviceinformationin the spreadsheet or
17 usually have different owners. Interconnected 17 inthe computer, to print out an extra 15
18 system you can have different owners and the 18 pages because you've got Lab West separate
19 power flows back and forth, but they’re not 19 from Lab East ishot abig cost.
20 necessarily operated asasingle system. You 20 Q. Andinyour view, when would it be appropriate
21 have different control areas. 21 for aregion or for Hydro to study separate
22 Q.Okay. Sothe fact that Hydro maintains 22 cost of service studies for, you know,
23 operational control of the line going from 23 different zones in the province? Isit when
24 Churchill Falls to Labrador West, you don’'t 24 the costs get to acertain level or when the
25 weigh that as afactor as bringing Labrador 25 savings for the consumers get to a certain
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1 MR. FITZGERALD: 1 afternoon, Mr. Kelly.
2 level that justifies disintegration? 2 KELLY, Q.C.
3 A. Anddisintegration has somewhat apejorative 3 Q. Good afternoon, Chair. | have no questions
4 sound toit. | think deintegration might be - 4 for this witness.
5 Q. Okay. 5 CHAIRMAN:
6 A.-a betterterm. Youdo have historically 6 Q. Thanks very much. Good afternoon, Mr.
7 cases where costs were lumped together, and at 7 Seviour.
8 some point, because of pressure from the 8 MR. SEVIOUR:
9 customersor for other reasons, the utility 9 Q. Good afternoon, Chair. | similarly have no
10 said it's appropriate now to deaverage the 10 questions for Mr. Drazen.
11 costsand look at them separately. Exactly 11 CHAIRMAN:
12 when that happens, | can't say. 12 Q. Thank you. Mr. Kennedy?
13 (12:00 p.m.) 13 MR. KENNEDY:
14 Q. For example, if the City of St. John's asa 14 Q. Chair, no questions. | think the evidenceis
15 major municipality in the province, approached 15 fully canvassed.
16 the Board about a separate cost of service 16 CHAIRMAN:
17 study, how would you expect the Board would 17 Q. Mr. Hearn, do you have any redirect?
18 respond? 18 HEARN, Q.C.:
19 A.I'veadways stayed away from predicting how 19 Q. None, Mr. Chairman.
20 Boards respond, even to my own evidence, to 20 CHAIRMAN:
21 say nothing of somebody else' s evidence. 21 Q. Questions?
22 Q. Wadll, I won't pursuethat. Okay. Thank you, 22 COMMISSIONER SAUNDERS:
23 Mr. Chairman. Those are al my questions. 23 Q. Noquestions, Mr. Chair.
24 CHAIRMAN: 24 COMMISSIONER WHALEN:
25 Q. Thank you, Mr. Fitzgerald. Good morning, good |25 Q. No questions. Thank you. Thank you, Mr.
Page 131 Page 132
1 Drazen. 1 GREENE, Q.C.:
2 CHAIRMAN: 2 Q. Excuse me, Mr. Chair.
3 Q.| have no questions. Thank you very much, Mr. 3 CHAIRMAN:
4 Drazen. 4 Q. Sure.
5 A. Thank you for listening to me. 5 GREENE, Q.C.:
6 Q. That bringstoday’ s proceeding, | believe, to 6 Q.| do have two undertakings and remember |
7 aconclusion. Isthat correct? 7 mentioned yesterday we had two we hoped to
8 MS. NEWMAN: 8 have ready to file today, and | do have them
9 Q.Yes, Mr. Chairman. That'sthe conclusion for 9 available. Thefirst undertaking arises or
10 the cost of service evidencein St. John's, 10 arose on November 12th and it was Undertaking
11 and | guess we're scheduled to begin at 10:00 11 No. 28 to reconcile the accumulated
12 am. in Stephenville on Monday. 12 depreciation, and | have that ready now to
13 CHAIRMAN: 13 distribute, and that was an undertaking to
14 Q. lItlookslike afairly hectic week next week. 14 Newfoundland Power.
15 We may have--1 am aware of thefact that we 15 The second one was not listed as an
16 havea long list of presentersin certain 16 undertaking in the transcript, but in reading
17 areas and we may have to adjust the morning 17 the transcript, Mr. Roberts had said that he
18 times, but | guesswe best do that as we 18 was unsure of anumber in Schedule 8 and that
19 proceed through the process next week. 19 he wanted to leave that with him. In
20 MS. NEWMAN: 20 reviewing Schedule 8, therewasan error in
21 Q. Yes. Currently, we're scheduled to begin at 21 Schedule 8 to Mr. Roberts' evidence. We have
22 10:00 on Monday and the rest of the week at 22 now a revised Schedule 8 to reflect the
23 9:30 in the morning. 23 accrued interest for 2003 and 2004. So there
24 CHAIRMAN: 24 isacorrection and the explanation for the
25 Q. Okay. 25 correction is provided with the revised

Discoveries Unlimited Inc., Ph: (709)437-5028

Page 129 - Page 132




November 20, 2003

Multi-Page™ NL Hydro's 2003 General Rate Application

Page 133 Page 134
1 GREENE, Q.C.: 1 transcript?
2 exhibit. So | have that ready now aswell to 2 GREENE, Q.C.:
3 distribute. 3 Q. Itisfrom November 12th at page 141. It was
4 Thank you, Mr. Chair. So that completes 4 not listed as an undertaking, but Mr. Roberts
5 al of the undertakings that have been 5 had said that he wished to leave it with him
6 provided to date by Hydro. 6 and he would get back on that area. So it was
7 CHAIRMAN: 7 November 12th, page 141, relating to the
8 Q. Thank you, Ms. Greene, very much. 8 accrued interest on Schedule 8.
9 COMMISSIONER SAUNDERS: 9 MS. NEWMAN:
10 Q. Didyou say Roberts' Schedule 8? 10 Q. So we'll addthat as an undertaking and
11 GREENE, Q.C.: 1 include it on our list. 1t will be
12 Q. It'sMr. Roberts' Schedule 8 and thiswill be 12 undertaking U-Hydro No. 33, or 34, sorry.
13 the third revision. Thereisachangeinthe 13 CHAIRMAN:
14 accrued interest, and if you recall, and | 14 Q. Thank you, Ms. Greene, once again, very much,
15 till haven't figured this out, the accounts 15 and look forward to seeing you in Stephenville
16 payable and accrued liability isabalancing 16 10:00 on Monday morning. Have a safe journey
17 factor and | would like to try that in my own 17 out. Have agood weekend. Thank you.
18 chequing account sometime, but the main 18 GREENE, Q.C.:
19 reason isthere wasachangein the accrued 19 Q. Thank you, Mr. Chair.
20 interest number, which is explained with the 20 UPON CONCLUSION AT 12:05 P.M.
21 exhibit, andthat causes achange in the
22 balancing number. So that iswhy that has
23 changed as well.
24 MS. NEWMAN:
25 Q.And that came from which date of the
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